ALL FOR WELDING

VSIEGCH * il

. @
A ¢
™ 0

= &

.
, '
.5‘ALL FOR WELPING J

TNRHK-TECH

N

-~
. s
RHK TECH Welding Machinery CO.,LTD - """‘\"y! L

Tel: +86 519 81880864 Mob: +86 13601591855 : _ & 5 \; A

Fax: +86 519 81880891 Skype: cathyyuhjwelding « . -

Add: No 2703 Jia Ye Guo Mao Plaza, No 99Yanling West Rd. City Changzhou, P.R. China -
Web: www.rhktech.cn Email: cathy.yu@rhktech.cn




WELDING TORCH

PRODUCT INTRODUCTION

Company Introduction

RHK TECH Welding Machinery was established in 2013 as a professional partner for each distributor on Chinese market. With experience
of the best manufacturers from Far East Market . RHK is the best provider to the steel fabrication, shipyards and related industries. We
are excellent partner for distributors and final customers interested in welding consumables, personal safety, abrasives and all spare
parts to welding equipment.

RHK TECH is a preferable professional partner for the customers looking for reliable supplier of welding solutions with best customer
service form Far East.

We offer to our customers:

- Complete offer of welding Torches, Abrasive and personal safety products

- Qualified staff with easy communication in English

- Modern information systems implemented

- Developed and efficient logistics organization

We created a complete range of welding products and accessories, which helps our partners to find “costalternative” and high quality

goods as the alternative to international well-known manufacturers.
ALL FOR WELDING

TUHVTECH

TORCH MINI 15

v C € eneoorar (@

Technical data BRREH

Cooling ##15= Gas Cooled 54

Duty cycle 60% ##;#%60% 180Amp CO, ,150Amp MIX
Wire Size R4HRZ ©0.6-1.0mm

| posion ] cote | fer |

1 JDT0074
2 JDV0014-08
3 JDA0098
3.1 JAI0673
3.2 JGU0819
4 JDW6061
5 JIR0081
6 JDO6771
7 JIK0039
8 JIK0656
9 JGU0074
10 JIK0074
11 JUC0060
12 JAU0082
13 JJD0231
14 JJD0111
15 JJD0511
16 JDH6011

Complete Torch
JDU2061
JDU2067

JDU2068

ALL FOR WELDING

THKTECH

Note: About the registered trade mark, reference number used are only for convenient research. We are no

145.0075

140.0059

002.0009

002.0078

002.0058

185. 0031

501.2155

501.0082

126.0005

124.0011

16
o
L2 15
15
" 14
— /_
- 13

—_——rrr——e—

Contact tip® 0.8mmE-CU/M6x25; S 1 ©0.8mm/M6x25mm

Torch head 15 with fitting; 15AK 48 51 (S B4 )
Gas diffuser 15AK; 4> i 8 15AK

Spring 15AK ;3% 15AK

MIG Mini handle black; B &% RFH#H 15AK
Trigger; 848 B FF %

Coaxial cable3m; [E] %l B8 4 £A3m

Front Cable Support;Fla45#E

Back box; FBE

Screw M4x6; #2£2 M4x6

Adaptor nut ; i & 42 £

Euro central adaptor body/air cooling ; BX 2 o s $3 3k/58 4

Liner nut ;3% £ & §i X126

Brass terminal® 2.0x4.0mm 0.35m; §i % £ & ® 2.0x4.0mm/0.35m
Teflon liner® 4.0x1.5mm 3m Blue ; ¥ & 4. 3% £ B ® 4.0x1.5mm/3m/iE &

Blue liner®0.6-0.8mm 3m; T & & B % £ E©0.6-0.8mm/3m/iE &

Spanner for MIG torches; MIG 1248 1R F

MIG MINI 15 torch 3m euro adaptor;MIG 15AK/3m/{&#15AK/3ma {4 &+/8% X 1 1R F 4

MIG MINI 15 torch 4m euro adaptor;MIG 15AK/4m/{8#:15AK/4ma3 {4 §1/5x X 3 1R F 48

MIG MINI 15 torch 5m euro adaptor;MIG 15AK/5Sm//&#:15AK/5ma# 4 §1/8% = i 1R F 1%

R TFEEMEAR, *FLW‘JL

ioned registered trade marks and brand AN //

RS IR, ERHEAR

O



TORCH 15
v C € Eneoora

Technical data
Cooling ##1753

Duty cycle 60% #%#;%60%
Wire Size B£EE

10

12
13
14
15
16
17
18
19
20

Complete Torch

BARESH

Gas Cooled 5%
180Amp CO, ,150Amp MIX
©0.6-1.0mm

JDT0074
JDV0014-08
JDA0098
JAIO673
JGU0819
JAIO678
JIK0041-01
JDWO0801-01
JIR0081
JGUO0885
JIK0793
JDO0674
JIK0726
JIKO714
JGU0074
JIK0074
JUC0060
JAU0082
JJD0231
JJD0111
JJD0511
JDH6011

JDU2009-36
JDU2000-36

JDU2006-36

ALL FOR WELDING

TRHK-TECH

145.0075
140.0059
002.0009
002.0078

002.0058

185.0031

160.0065

501.2155

501.0082

126.0005

124.0011

Gas nozzle ® 12mm; Bi# ® 12mm

Contact tip® 0.8mmE-CU/M6x25 ; 5B i ®0.8mm/M6x25mm
Torch head 15 with fitting; 15AK #8 5 (SE# )

Gas diffuser 15AK; 5 88 15AK

Spring 15AK; 3% 15AK

Hexagonal fitting; 75 £ i& it 3%

Plastic Body; 28 1} 1& Fit 3%

MIG handle Blue/Grip; MIGF /&

Trigger; /&4 F 7F %

Screw M3x10; 42 M3x10

Joint for 15 ;EB 45 X ## FA Bk {5 1546 A

Coaxial cable 3m; 54 B8 45 £A3m

Housing for handle ; F#B{ £ 3

Back box; G &

Screw M4x6 ;8822 M4x6

Adaptor nut ; & 48 §i 5% 42 8/28 RHR 4

Euro central adaptor body/air cooling ; B % # R 3 3k/25 4
Linernut ;¥ 2 &4 Ri2 &

Brass terminal® 2.0x4.0mm 0.35m; §fd % £2 B ® 2.0x4.0mm/0.35m
Teflon liner® 4.0x1.5mm 3m Blue ;4§ @ % 22 B ® 4.0x1.5mm/3m/E &
Blue liner®0.6-0.8mm 3m; 4 4 R % £ & ®0.6-0.8mm/3m/IE &
Spanner for MIG torches; MIG 12481k F

MIG 15AK torch 3m euro adaptor /spring pins;}&#15AK/3m/3 14 $+
MIG 15AK torch 4m euro adaptor /spring pins; {2 #15AK/4m /3 i &+
MIG 15AK torch 5m euro adaptor/spring pins; /84 15AK/5m/3# 4 &t

, WEREHEAR (AREMN)

s\

TORCH 24
¢/ C € avemrr @

Technical data BRAREH
Cooling ##75%

Gas Cooled 5%

Duty cycle 60% ##;#%60% 250Amp CO, ,220Amp MIX
Wire Size #£##E ©0.8-1.2mm

Sronion L cose | no |

1 JDT0817
2 JDV0014-10
3 JDV0694
4 JDG0540
5 JDA0641
6 JDW0801-01
7 JIR0081

8 JGU088s
9 JIK0032
10 JGU0893
11 JDO0775
12 JIK0714
12.1 JIK0726
13 JGU0074
14 JIK0083
15 JUC0060
16 JAU0082
17 JID0231
18 JJD0171
19 JID0571
20 JDH6011

Complete Torch
JDU2609-36
JDU2600-36

JDU2606-36

IQALL FOR WELDING

K-TECH

145.0080
140. 0253
142.0003

012.0183
012.0001

185.0031

501.2155
501.0082

126.0021

124.0026

_— e & L=
20
L)

Description

Gas nozzle ®12.5mm; Bk ®12.5mm

Contact tip® 1.0mmE-CU/M6x25 ; S I ©1.0mm/M6x25mm
Contact tip holder 24KD M6x26mm ; 5 B8 B F&/24KD/M6x26mm
White ceramic gas diffuser 24KD; B & [ & 9 7R 38 24KD

Torch head 24KD;#81 24KD

MIG handle Blue/Grip; MIGF #/15 &

Trigger; {246 A FF %

Screw M3x10;#2£ M3x10

Joint for MIG handle;MIGF & A Bk 3k

Spring for cable support;F 5 37 138 &

Coaxial cable 3m;E#HE 440 3m

Back box; G E

Housing for handle; F#$i & 3F

Screw M4x6 ;#8222 M4x6

Adaptor nut; /246§ F IR B/ &

Euro central adaptor body/air cooling ; BR =%, o 9@ 8 sk/z8 74

Liner nut ;3% & & 8 X125

Brass terminal® 2.0x4.0mm 0.35m ; §f 1% 22 & ® 2.0x4.0mm/0.35m
Teflon liner® 2.0x4.0mm 3m Red; 5 % 7 % £ E© 2.0x4.0mm/3m/4L &
Red liner® 1.0-1.2mm 3m; H 5 EHE L E D 1.0-1.2mm/3m/AL &
Spanner for MIG torches; MIG 12483k F

MIG 24KD torch 3m euro adaptor /spring pins; & #:24KD/3m/3# 14
MIG 24KD torch 4m euro adaptor /spring pins;X&#24KD/4m/3# 14§
MIG 24KD torch 5m euro adaptor /spring pins;/&#24KD/5m/3% {4 §+

Note: About the registered trade mark, reference number used are only for convenient research. We are no way affiliate with mentioned registered trade marks and brand.

XTI, AR RE G RSHER, EREEAR (AREN)




TORCH 25 =T TORCH 26

v" C € Encoora7 2. v c € EN 60974-7 * /
RolS — RolS
Technical data BARSH r Technical data BRAREH r
Cooling ##175 3 Gas Cooled 5% 7/ ” Cooling % #1755 Gas Cooled 54 / o
Duty cycle 60% #3%60%  230Amp CO, ,200Amp MIX _/ Duty cycle 60% #3%60%  290Amp CO, ,260Amp MIX 8
Wire Size B£HZ ©0.8-1.2mm ] a Wire Size R4£ERZ ©0.8-1.2mm ]
,r’(_- 10
) - 21 /
20 i el ¢
..l ¥ 10
/- 20 i
19 = —
18 \ /ﬂ
— N —
" \ i
7
ode
1 JDT0724 145.0085 Gas nozzle ® 16mm; Bk ®16mm
1 JDT0089 145.0100 Gas nozzle ® 15mm; BEHE ®15mm 2 JDV0015-10 140.0242 Contact tip® 1.0mmE-CU/M6x28mm ; S I 0 1.0mm/M6x28mm
2 JDV0015-10 140.0242 Contacttip® 1.0mmE-CU/M6x28; S ®1.0mm/M6x28mm 3 JDV0027 142.0007 Contact tip holder M6x22mm ; 5 B2 B EE/M6x22mm
3 JDG0072 142.0001 Gas diffuser M6x35mm; 53t 8 M6x35mm/25AK 4 JDG0546 018.0141 White ceramic gas diffuser 26KD; [ & [ 5 7 2 26KD
4 JDA0099 004.0012 Torch head 25AK; #3 25AK 5 JDA0647 018.0001 Torch head 26KD ;4 %1 26KD
4.1 JEUTEAY TTEATIE Spring 25AK; 32 % 25AK 6 JIK0041-01 400.0044 Plastic Body; ¥} i& 2 2
5 JIK0041-01 400.0044 Plastic Body; #8 %} & fi 25 7 JDWO0801-01 MIG handle Blue/Grip; MIGF #/ik &
6 JDW0801-01 MIG handle Blue/Grip; MIGF /i & 8 JIR0081 185.0031 Trigger: k216 F 7
7 JIR0081 185.0031 Trigger; B4 A FF X 9 JGU08S5 Screw M3x10; 8242 M3x10
8 JEUH:D Screw M3x10; 8 £ M3x10 10 JIK0032 Joint for MIG handle;MIGZF 4 i B 3k
9 JIK0032 Joint for MIG handle;MIGF# i 3k 11 JGU0893 Spring for cable support;FE 45 3 $# 38 &
i JCILIREER) Spring for cable support;& 3% #3# & 12 JDO0607 160.0239 Coaxial cable 3m;[F % & #54A3m
11 JDO0675 Coaxial cable 3m; [ § H2 4 2A3m
7 13 JIK0714 Back box; FilE
12 JIK0714 Back box; /518 . "
2 13.1 JIK0726 Housing for handle; F A Bi £ ¥
12.1 JIKO726 Housing for handle ; F# i & 3F
14 JGU0074 Screw M4x6; 424 M4x6
13 JGU0074 Screw M4x6 ;424 M4x6 "
207 x 15 JIK0083 Adaptor nut; 1846 i 5% 42 £
14 JIK0083 Adaptor nut; (2 # i %12 /85 5
16 JuC0060 501.2155 Euro central adaptor body/air cooling ; B = 5 52 % 3k/75 %
15 JUC0060 501.2155 Euro central adaptor body/air cooling ; BR 3 R % 3k/55 4
p y g BX 3 = 17 JAU0082 501.0082 Liner nut ;% £ & $i K12
16 JAU0082 501.0082 Liner nut ;i% 22 & §i X412 &
18 JJD0231 Brass terminal® 2.0x4.0mm 0.35m; § i £ & ® 2.0x4.0mm/0.35m
17 JJD0231 Brass terminal® 2.0x4.0mm 0.35m; $fi 3% £ & ® 2.0x4.0mm/0.35m
19 JJD0171 126.0021 Teflon liner® 2.0x4.0mm 3m Red ; 45 i A 1% £ B ® 2.0x4.0mm/3m/4A &
18 JJD0171 126.0021 Teflon liner® 2.0x4.0mm 3m Red; #§ & 4 % £ E® 2.0x4.0mm/3m/4 &
20 JID0571 124.0026 Red liner®1.0-1.2mm 3m; HH LR F £ EO1.0-1.2mm/3m/4L &
19 JID0571 124.0026 Red liner®1.0-1.2mm 3m; @& RE X £ EO1.0-1.2mm/3m/A &
21 JDH6011 S for MIG torches; MIG 1846
20 JDH6011 Spanner for MIG torches; MIG (24t 1k F panner for orenes RHRRF
Complete Torch
Complete Torch
JDU2809-36 MIG 26KD torch 3m euro adaptor /spring pins;¥&4626KD/3m/3# 14§t
JDU2709-36 MIG 25AK torch 3m euro adaptor /spring pins; {2 #25AK/3m/3# 14 £+
) JDU2800-36 MIG 26KD torch 4m euro adaptor /spring pins; & #26KD/4m/3# 14 §+
JDU2700-36 MIG 25AK torch 4m euro adaptor /spring pins; {8 #25AK/4m/3 4 ¢+
JDU2806-36 MIG 26KD torch 5m euro adaptor /spring pins; 26K D/5m/3 4 &t
JDU2706-36 MIG 25AK torch 5m euro adaptor /spring pins; & #825AK/5m/3# 1% &t P pringp
17 16 15 14 13 131 10 1

18 /_15 g . 13 /1_2 le /._2 /.1_9 /o /S ST 7 o
- . S
R e ‘=—— g D | ol - - RS - 8 e N
TSHV-TECH —) TSHV-TECH prom—d
Note: About the registered trade mark, reference number used are only for convenient research. We are no way affiliate with mentioned registered trade marks and brand Note: About the registered trade mark, reference number used are only for convenient research. We are no way affiliate with mentioned registered trade marks and brand.
EAFEAMER NRREGNSESRESIER, BRHEAR (AAFHM) EAFEEMER NRRERGNSESRSIER, BERHEAR (AFHMN)




TORCH 40 -
2 C € s

TORCH 36
v C € eneosrar

6
Technical data BRASH r Technical data BRAREH P
Cooling ##153 Gas Cooled 54 Cooling ##1753 Gas Cooled 54 _,7
Duty cycle GE,DZU HAHED% - 340Amp CO, 300AMmp MIX 2/ e Duty cycle 60% %#%60%  380Amp CO, ,360Amp MIX
Wire/Sizol &1 $0.8:1.6mm _/ Wire Size s ©1.02.4mm 3_/
i 8 - 10
/ 2/ -
20
= o 18
hdid e \_)\) b
19 0 A
= = - g /_ \"‘\
18
=k 17
L =
Pl
Position Code Description
1 JDTO711 145.0079 Gas nozzle ® 18mm 40KD ;5 ® 18mm 40KD
1 JDT0083 145.0078 Gas nozzle ®16mm; BHE ©16mm
g 2 JDV0016-16 140.0587 Contact tip 1.6/M8x30mm ;S B # 1.6/M8x30mm
2 JDV0015-12 140.0379 Contacttip® 1.2mmE-CU/M6x28; S B B ®1.2mm/M6x28mm
P 3 JDV0038 142.0025 Contact tip holder 40KD/M8/47mm; S B3 B B2 40KD/M8/47mm
3 JDV0697 142.0011 Contact tip holder M6x32mm ; 5 F3 I FE/M6x32mm
4 JDG0542 015.0023 White ceramic gas diffuser 40KD;f%& 47 88 40KD
4 JDGO573 014.0023 White ceramic gas diffuser; B & [ & 4> 7 28 36KD
5 JDA0093 015.0001 Torch head 40KD 50°;#t 3 40KD 50°
5 JDA0090 014.0006 Torch head 36KD;# H1 36KD 6 E— MIG handle 40KD Blue:MIGE#E 40KD/E &
andle ue; %
6 JDW0801-01 MIG handle Blue/Grip; MIGF #&/i5 & . JIR0081 165.0031 i TN
. rigger 21.8mm; .8mm
7 JIR0081 185.0031 Trigger; 24 A FF % . 16U0089 S MAXLAABE: MAx1e
crew M4x14;4# 22 X
8 JGU0885 Screw M3x10; 8242 M3x10
9 JGU0031 Nut M4 UNI 5587 (Sp 4);/xfaiE & M4
O JIK0032 Joint for MIG handle;MIG3F & A Bk sk
10 JAI0875 Joint with spring;#5 3 & Bk 15
10 JGU0893 Spring for cable support;H % ¥ #4358 & c | cable 3m:E e 45 3
11 JDO0620 oaxial cable 3m;[g] 45 3m
11 JDO0681 160.0364 Coaxial cable 3m; [ % E2 4 2A3m
12 JIK0724 Back box for air cooling for ;Z= 4 FIRE
12 JIKO714 Back box; FiBE
13 JGU0074 Screw M4x6 UNI 6107;42% M4x6 UNI 6107
12.1 JIK0726 Housing for handle ; F## 8 X I P
14 JIK0081 Gun plug nut;J i 5% 42 &
13 JGU0074 Screw M4x6 ;424 M4x6
15 JUC0020 Euro central adaptor body/40KD/spring pins/Adaptor nut;BX =X, s S 45 3k 40KD/3# 1 £t
14 JIK0083 Adaptor nut; K248 $i %X 42 8/ &
16 JAU0082 501.0082 Liner nut; 3% 22 & §i X 42
15 JUC0060 501.2155 Euro central adaptor body/air cooling ; ER =% f s $3 /28 14
501.0082 17 JJD0501 124.0041 Insulated steel liner 1.2-1.6/3m/Yellow; 4 4 B % £ &1.2-1.6 3m/E
16 JAU0082 d Liner nut ;3% £ & 8 X425
o 18 JDH6011 Spanner for MIG torches; MIG 124 3k F
17 JID0237 Brass terminal® 3.0x4.5mm 0.35m; §fi i £ & ® 3.0x4.5mm/0.35m
18 JJID0221 126.0039 Teflon liner® 3.0x4.5mm 3m Yellow; 5§ /z & ® 3.0x4.5mm/3m/& &
19 JJD0501 124.0041 Yellow liner®1.2-1.6mm 3m; SRR LEOL2-1.6mm/3m/EE
20 JDH6011 Spanner for MIG torches; MIG 121 iR F
c lete Torch Complete Torch
omplete Torc
) . JDU2109 015.0029 MIG 40KD torch 3m with /spring pins;/&4#40KD/3m/3 14 ¢+
JDU2909-36 MIG 36KD torch 3m euro adaptor/spring pins;{&4#36KD/3m/3# 14
JDU2100 015.0032 MIG 40KD torch 4m with /spring pins;X&#340KD/4m/38 14 &t
JDU2900-36 MIG 36KD torch 4m euro adaptor/spring pins;{2#36KD/4m/3# 14§
) JuD2106 015.0034 MIG 40KD torch 5m with /spring pins; /& #40KD/5m/3# 14 §+
JDU2906-36 MIG 36KD torch 5m euro adaptor/spring pins; & #£36KD/5m/3 1% £ pringp
16 15 14 12 10
16 15 14 13 12 121 9 10 — — /—
Ve o S e 4
PiTECH = s sl DivTECE “wa= [ D cmim
S e
TSHW-TECH - TSHW-TECH T
Note: About the registered trade mark, reference number used are only for convenient research. We are no way affiliate with mentioned registered trade marks and brand - Note: About the registered trade mark, reference number used are only for convenient research. We are no way affiliate with mentioned registered trade marks and brand o __,_’/
EATFEIMER NBRREGHNSETRSIER, BRHEAR (AAFM) i RTIEEMER. B RECHR SRR, BRHERT (AFEM)




TORCH 240
mm‘ c € EN 60974-7 ‘

Technical data

Cooling A#1757

BASH

Water Cooled k%4

28

TORCH

400/500

NE‘ c € EN 60974-7 .

Duty cycle 100% ###100% 300Amp CO,,270Amp MIX
Wire Size 1B4HEE

©0.8-1.2mm

i
Q

Crosiion | coas | _net |

1 JDT0817 145.0080
2 JDV0014-10 140.0253
3 JDV0694 142.0003
4 JDG0540
5} JDJ0002 023.0001
6 JDWO0801-01
7 JIR0081 185.0031
8 JGU0885
9 JIK0032
10-1 JIK0863
10-2 JIK0866
11 JGu0833
12 JDEO0078
13 JGUO0733
14 JGUO0741
15 JAUB081 501.0114
16 JIK0774
17 JIKO775
18 JGU0074
19 JIK0083
20 JUC0068 501.2156
21 JAU0082 501.0082
22 JLI0616
23 JIK0317
24 JIK0319
25 JJD0231
26 JJD0171 126.0005
27 JJD0582 122.0031
28 JDH6011
Complete Torch

JDI2509-36

JDI2500-36

JDI2506-36

ISALL FOR WELDING

TSHW-TECH

Note: About the registered trade mark, reference number used are only for convenient research

R TEEM

s -

r 23 24
22, e e
13 33 15 13

vy
O
Description

Gas nozzle ®12.5mm; Bk ®12.5mm

Contact tip® 1.0mmE-CU/M6x25; S B I ©1.0mm/M6x25mm
Contact tip holder M6x26mm ; 5 8 1% B2/M6x26mm

White ceramic gas diffuser; B & & 4R 8 24KD

Torch head 240;# % 240

MIG handle Blue/Grip; MIGF /i &

Trigger; 124 B IF %<

Screw M3x10;#2% M3x10

Joint for MIG handle;MIG3F 4% A ¥k sk

HOUSING RING/BIG/INSIDE; $i$&RIF/ K

HOUSING FOR PLASMA BACK BOX/BIG;% & F /5 & F i /X
Spring for cable support;B 4 7 #53% %&

Cable assenbly 3m 401D-501D;7k 4 EE 4548 3m/401D-501D
Clamp®9.5;F#E® 9.0

Clamp® 8.7 ;& $&® 8.0

HLko6mm

Back box for water cooled; 7k 4 18 [F I8 &

Hose support for water cooled rear box; 7k 418 FRE R KE L4

Quick connector water® 6mm ; 7k 4 R %

Screw M4x6 ;4242 M4x6

Adaptor nut/Blue; 124t §ii S 42 f3/15 &
Euro central adaptor body/water cooling ; EX
Liner nut; i% £ & i R 12 £

Output water tube M5x8mm 0.8m Red; EPDM 4741 % M5x8mm 0.8m/41 &

% o RBELIKOS

Plastic support for water cooling connector /Red;7k¥/4L &
Plastic support for water cooling connector /Blue;7k #/i5 &
Brass terminal® 2.0x4.0mm 0.35m; {1 £ & ® 2.0x4.0mm/0.35m
Teflon liner® 2.0x4.0mm 3m Red ; # # £ & ©2.0x4.0mm/3m/4L &
Steel liner®1.0-1.2mm 3m; $HE £ E® 1.0-1.2mm/3m

Spanner for MIG torches; MIG 1818 1R F

MIG 240 torch 3m euro adaptor/spring pins; /& 4240/3m/3# 4 $+
MIG 240 torch 4m euro adaptor/spring pins; 24t240/4m /3 1% §+
MIG 240 torch 5m euro adaptor/spring pins; & 1£240/5m /3 14 £+

9 10 11

18—, l',—t?

We are no way affiliate with mentioned registered trade marks and brand
v B REGHNSERSHIER, HEAHEERRT (AFEHM)

Technical data BAR S H400

Cooling ##1755 Water Cooled 74

Duty cycle 100% %#%100% 400Amp CO, ,350Amp MIX
Wire Size B4 &% ®0.8-1.2mm

Technical data 500  #% AR £ #500

Cooling ##1755 Water Cooled 7%

Duty cycle 100% ##i%100% 500Amp CO, ,450Amp MIX
Wire Size B£H#E

©1.0-1.6mm

1 JDT0724 145.0085
2 JDV0016-12 140.0442
3 JDG0535 030.0190
4 JDG0032 142.0022
5
5.1 JDJ0066 034.0001
5.2 JDJ0060 033.0001
6 JDW0801-01
7 JIR0081 185.0031
8 JGU0885
9 JIK0032
10-1 JIK0863
10-2 JIK0866
11 JGU0833
12 JDEO0078
13 JGUO0733
14 JGUO741
15 JAUB081 501.0114
16 JIKO775
17 JGU0074
18 JIKO774
19 JIK0083
20 JUC0068 501.2156
21 JAU0082 501.0082
22 JLI0616
23 JIK0317
24 JIK0319
25 JJD0237
26 JJD0221 126.0039
27 JJD0591 122.0056
28 JDH6011
29 JAI6734 030.0019
Complete Torch

JDI2209-36

JDI2200-36

JDI2206-36

JDI2209-36

JDI2300-36

JDI2306-36

ALL FOR WELDING

THKTECH

[
28
OO0 A
o I
26 i
e J -
25 2
25
®
14 15 ﬂ/“"
[ J
Fs-=-==- ‘E 24 G e 13
14 15 14
o "'j —
O === QO
(@]

Description

Gas nozzle ® 16mm; Bk @ 16mm

Contact tip® 1.2mmE-CU/M8x30; S i ®1.2mm/M8x30mm

White ceramic gas diffuser; B &8 f§& 9 /% 8 401D-501D

Contact tip holder M8x25mm ; 5 L I FE/M8x25mm

Torch head; # %

Torch head 501D;#¢ % 501D

Torch head 401D;#8 % 401D

MIG handle Blue/Grip; MIGTF /i

Trigger; /R4 A FF X

Screw M3x10;##£2 M3x10

Joint for MIG handle;MIG3 4# F Bk 3k

HOUSING RING/BIG/INSIDE; $i %R/ K

HOUSING FOR PLASMA BACK BOX/BIG; % & FFiBE A #i R ¥/ X
Spring for cable support;B 45 3 #5388 %

Cable assenbly 3m 401D-501D; 7k 4 L4548 3m/401D-501D
Clamp®9.5; k9.0

Clamp®8.7; k% ®8.0

Quick connector water® 6mm; 7K 74 R & 17 Sk ® 6mm

Hose support for water cooled rear box; 7k A1 G EAKE X+
Screw M4x6 ;4242 M4x6

Back box for water cooled; 7k 41t [FIRE
Adaptor nut/Blue ; 2 6 §i S 12 /15 &

Euro central adaptor body/water cooling ; EX
Liner nut; i% 22 & i %X 42

Output water tube M5x8mm 0.8m red; EPDM 4R 42 & M5x8mm 0.8m/4 &
Plastic support for water cooling connector /Red;7K /4 &

BR R 2K % o R4 kiK%

Plastic support for water cooling connector /Blue;7k /5 &
Brass terminal ® 3.0x4.5mm 0.35m ; §fi i% £ & ©3.0x4.5mm/0.35m
Teflon liner® 3.0x4.5mm 3m Yellow; 45 & £ & ® 3.0x4.5mm/3m/E &
Steelliner®1.2-1.6mm 3m; {iE £ E D 1.2-1.6mm/3m

Spanner for MIG torches; MIG 1248 4R F

Insulator 401D-501D; 4 % # 5 401D-501D

MIG 401D torch 3m euro adaptor/spring pins;&48401D/3m/3 4 §t

MIG 401D torch 4m euro adaptor/spring pins;&48401D/4m/3% M §t

MIG 401D torch 5m euro adaptor/spring pins;X&#£401D/5m/3 1% $+

MIG 501D torch 3m euro adaptor/spring pins;&#501D/3m/3 4

MIG 501D torch 4m euro adaptor/spring pins;{8#501D/4m/3é 14

MIG 501D torch 5m euro adaptorlspring pins;}248501D/5m /3 {4 §+
10 11

e g e

17—, ",—16

Note: About the registered trade mark, reference number used are only for convenient research. We are no way affiliate with memwonp( registered trade marks and brand

ERTFEEMER. VAR R RSHIER, WREEAR (AREN

9

/" 10

v

10



TORCH 5000
v, C € Eneoorar

BAREH

Water Cooled 7ki¢

Technical data
Cooling ##1753

Duty cycle 100% ##%100% 500Amp CO, ,450Amp MIX
©0.8-1.6mm

Wire Size BLEE

1 JDT0731
2 JDV0818-12
3 JDG0543
4 JDG0014
5 JAI1246
6 JDJ0064
7 JDWO0801-01
8 JIR0081
9 JGU088s5
10 JIK0032
11-1 JIK0863
11-2 JIK0866
12 JGU0833
13 JDEO0078
14 JGU0733
15 JGU0741
16 JAUB081
17 JIKO775
18 JGU0074
19 JIKO774
20 JIK0083
21 JuC0068
22 JAU0082
23 JLI0616
24 JIK0317
25 JIK0319
26 JJID0237
27 JJD0221
28 JJD0591
29 JDH6011
Complete Torch
JDI2349-36
JDI2340-36
JDI2346-36

ISALL FOR WELDING

W-TECH

= =
29
GO
28
27
=k
26
15 16
pu 12
24/_25
23 L 16 15
15 .lj e T % P
a m:} S
Q
Description

42.0100.1007
42.0001.5122
42.0100.1016

185.0031

501.0114

501.2156
501.0082

126.0039
122. 0056

22

PN -

Gas nozzle ® 16mm; Bk © 16mm

Contacttip® 1.2mmE-CU/M10x40; S BB ® 1.2mm/M10x40mm
White ceramic gas diffuser; B & [ & 4 ik 82

Gas Diffuser; 4 5% 3%

Insulator ring; &£ ¥ 5000

Torch head 5000; 43 5000

MIG handle Blue/Grip; MIGF 1A/ &

Trigger; /&4t A FF %

Screw M3x10;#242 M3x10

Joint for MIG handle;MIGTF #% F Bk sk

HOUSING RING/BIG/INSIDE; %M/ k

HOUSING FOR PLASMA BACK BOX/BIG;% B F /R 1B E A #i R ¥/X
Spring for cable support;f 45 37 1 3% &

Cable assenbly 3m 401D-501D; 7K 4 B 4540 3m/401D-501D
Clamp® 9.5; £%®9.0

Clamp®8.7; £ §® 8.0

Quick connector water® 6mm; 7k )4 HRIEHE KO 6mm

Hose support for water cooled rear box; 7k 448 FIRERKE X
Screw M4x6 ;4242 M4x6

Back box for water cooled; 7k 4 it [F IR E

Adaptor nut/Blue ; /&t $i & 42 B/15 &

Euro central adaptor body/water cooling; X X 7k /4 m R 3% k/7k 4
Liner nut; 3% £ & $il K 1E &

Output water tube M5x8mm 0.8m red; EPDM 4z 41 & M5x8mm 0.8m/4 &
Plastic support for water cooling connector Red7k #/4I &
Plastic support for water cooling connector Bluezk /85 &

Brass terminal® 3.0x4.5mm 0.35m; §fl % £2 & ® 3.0x4.5mm/0.35m
Teflon liner® 3.0x4.5mm 3m Yellow; 8 7 & © 3.0x4.5mm/3m/E &
Steel liner®1.2-1.6mm 3m; $RiX £ E® 1.2-1.6mm/3m

Spanner for MIG torches; MIG 1218 1R F

MIG 5000 torch 3m euro adaptor/spring pins;&4£5000/3m/3% {4 $+
MIG 5000 torch 4m euro adaptor/spring pins;&4£5000/4m /3 4 £+
MIG 5000 torch 5m euro adaptor/spring pins;{&45000/5m/3 1F &t

10 1 12

b 18—, ll,—1?

Note: About the registered trade mark, reference number used are only for convenient research. We are no way affiliate with mentioned registered trade marks and brand

11

X TEER B REHNSERSHIER, BERHERR (AREHM)

AUTO MIG 25

v

RoHS

Technical data
Cooling ##1753

Duty cycle 60% & #3%60%
Wire Size B4H#Z

C € s @

BARSH

Gas Cooled 574
230Amp CO, ,200Amp MIX
©0.8-1.2mm

1 JDT0089
2 JDV0015-10
3 JDG0072
4 JDA0791
4.1 JGU0810
5 JDA0797
6 JIDW0682
6.1 JIDWO0686
6.2 JGU0070
6.3 JGU0809
7 JDO0675
8 JGU0808
9 JIK0656
10 JGU0074
11 JIK0081
12 JUC0060
13 JAU0082
14 JJD0231
15 JJD0171
16 JID0571
17 JDH6011

Complete Torch
JDU0526

JDU0528

.5 ALL FOR WELDING

TSHW-TECH

Note: About the registered trade mark, reference number used are only for convenient research. We are no

145.0100

140.0242

142.0001

003.0013

501.2155

501.0082

126.0021

124.0026

1 2
& £ Ln
)/

17

Description

Gas nozzle ® 15mm; BHE ®15mm
Contact tip® 1.0mmE-CU/M6x28; S 1 ©1.0mm/M6x28mm
Gas Diffuser M6x35; 53 it 88 M6x35 25AK

Torch head auto 25AK 45°; B &4 Hl 25AK 45°

spring 25AK ;3 & 25AK

Torch head auto 25AK 0°; B &4 il 25AK 0°

Handle for auto MIG torch; FHREHMIGE zhit F1 A

Handle for auto MIG torch; FMIGH 546 51

Screw M4x8 ;42 22 M4x8

Spring for cable support;H 4 7 ¥4 3¢ &

Coaxial cable 3m; B4 &8, 4§ 48/3m

Spring for cable support;B £ % 4 3 &

Back box; /5B &

Screw M4x6; 422 M4x6

Adaptor nut/Blue ; {246 §i K12 £

Euro central adaptor body/air cooling ; Bt = & s $3 3k/78 4

Liner nut; % 2 & §i R 1E

Brass terminal® 2.0x4.0mm 0.35m; §fl i% £2 &® 2.0x4.0mm/0.35m
Teflon liner® 2.0x4.0mm 3m Red; 4§ & % & © 2.0x4.0mm/3m/4 &
Red liner ®1.0-1.2mm 3m;H @ &R X £ EC1.0-1.2mm/3m/4L &

Spanner for MIG torches; MIG /&4t 3k F

Torch auto MIG25AK 0° 3m euro adaptor/spring pins; B B8 25AK/0°/3m/38 4 §+

Torch auto MIG25AK 45° 3m euro adaptor/spring pins; B Zh & #25AK/45°/3m/38 14§+

13 12 11 10 9
ava AR /
e A— .
© - e -
y affiliate with mentioned registered trade marks and brand.
EATFEEMEAR, AR RE AN HSHER, BERHEAR (AFEHM)

12



AUTO MIG 36
ME‘ c € EN 60974-7 ‘

Technical data BARSH

Cooling #1753 Gas Cooled 5%

Duty cycle 60% ##%60% 300Amp CO, ,270Amp MIX
Wire Size BLEE ®0.8-1.6mm

Crovton e | et

1 JDT0083
2 JDV0015-12
3 JDV0697
4 JDG0573
5 JDA0033
6 JDA0034
7 JDW0682
7.1 JDW0686
7.2 JGU0070
7.3 JGU0809
8 JDO0681
9 JGU0808
10 JIK0656
11 JGU0074
12 JIK0081
13 JUC0060
14 JAU0082
15 JJD0237
16 JJD0221
17 JJD0501
18 JDHB011

Complete Torch
JDU0533

JDUO0530

ISALL FOR WELDING

W-TECH

145.0078

140.0379

142.0011

014.0023

160. 0364

501.2155

501.0082

126.0039

124.0041

e

- — l—lwm

1 2 3 4

[ ———]

= Tl
III/_/_ /T

elelye

Description

Gas nozzle ® 16mm; B K ® 16mm 36KD
Contact tip® 1.2mmE-CU/M6x28; B 1.2mm/M6x28mm
Contact tip holder M6x32mm ; 5 I FE36KD/M6x32mm
White ceramic gas diffuser; B & [ & 4 i 8§ 36KD

Torch head auto 36KD 45°; B &1 5l 36KD 45°

Torch head auto 36KD 0°; B &4t 5 36KD 0°

Handle for auto MIG torch; MIGE &8 Hi i F R E #

Handle for auto MIG torch; FHMIGH ¢ i

Screw M4x8 ;824 M4x8

Spring for cable support;H 4 3 #36 &

Coaxial cable 3m; &% 4548/3m

Spring for cable support;H 4 3 #538 &

Back box; /g8 &

Screw M4x6; 482 M4x6

Adaptor nut/Blue ; 18 4f §i X 12

Euro central adaptor body/air cooling ; BX =% # s 43 3k/23 4
Liner nut; 3% £ & $i X 12 &

Brass terminal®3.0x4.5mm 0.35m; §f i% £ & ©3.0x4.5mm/0.35m
Teflon liner® 3.0x4.5mm 3m Yellow; ¥ & % & ® 3.0x4.5mm/3m/HE &
Yellow liner®1.2-1.6mm 3m; HELKRFLEG1.2-1.6mm/3m/E &

Spanner for MIG torches; MIG 12483k F

Torchauto MIG36KD 0°3m euro adaptor/spring pins; B £ &4¢36KD/0°/3m/3 4 £t

Torchauto MIG36KD 45°3m euro adaptor/spring pins; B Z1(&4:36KD/45°/3m/3 {4 &

12 11 1D 9
—

Note: About the registered trade mark, reference number used are only for convenient research. We are no way affiliate with mentioned \P,QMP\P(\ trade marks and brand

13

er RECHHISERSHER, ERHEAR (AFEMN)

AUTO MIG 240
ME‘ c € EN 60974-7 ‘

Technical data BRREH

Cooling % #1753 Water Cooled 7k%

Duty cycle 100% ##;%100% 300Amp CO,,270Amp MIX
Wire Size R4 EZ ©0.8-1.2mm

S IWAR

/-

I T T

1 JDT0817 145.0080 Gas nozzle ®12.5mm; B ® 12.5mm
2 JDV0014-10 140.0253 Contact tip® 1.0mmE-CU/M6x25; S BB H ®1.0mm/M6x25mm
8] JDV0694 142.0003 Contact tip holder M6x26mm ; 5 B8 B FE24KD/M6x26mm
4 JIDG0540 White ceramic gas diffuser; B & & 5 i 88 24KD
5 JDJ0047 Torch Head auto 240 45°; B ##8 l 240 45°
6 JDJ0048 Torch head auto 240 0°; B &4 30 240 0°
7 JDW0682 Spring cable support for torch auto; B 4 B 4 X 2 e s
7.1 JDW0686 Handle for auto MIG torch; F#&MIG E &4t 3 F
7.2 JGU0070 Screw M4x8 ;824 M4x8
7.3 JGU0809 Spring for cable support;d 4 7 1 3 &
8 JDEO0078 Cable assenbly 3m 401D-501D; 7k /4 B 4548 3m 401D-501D
9 JGU0745 171.0002 Clamp® 8.7; 0 8.7
10 JGU0748 173.0001 Clamp®9.5; £%®9.5
11 JAU8S081 501.0114 Quick connector water® 6; 7k /4 1R iE 1 Sk ® 6mm
12 JGU08s1 Spring cable support 401D-501D ; B3 4 7 ## I 3% & 401D-501D
13 JIK0788 Joint for MIG handle; MIG 4% f Bk 3k
14 JIK0726 Handle closing ring; 5 # i & ¥
15 JIKO775 Hose support for water cooled rear box; 7k 41t G iR E R K& X+
16 JGU0074 Screw M4x6; 42 2 M4x6
17 JIKO774 Back box for water cooled; 7K 4 FIE
18 JIK0083 Adaptor nut/Blue ; k2 4¢ $i S 12 £/i5 &
19 JUC0068 501.2156 Euro central adaptor body/water cooling; BX R 7k /% Fh R 3% k/7k 4
20 JAU0082 501.0082 Liner nut; ¥ £ & i X2 &
21 JLI0616 Output water tube M5x8mm 0.8m red; EPDM 4541 % M5x8mm 0.8m/4L &
22 JIK0317 Plastic support for water cooling connector /red;7k /41 €&
23 JIK0319 Plastic support for water cooling connector /blue;7k #/i5 &
24 JJID0231 Brass terminal® 2.0x4.0mm 0.35m ; §f 1% 22 & ® 2.0x4.0mm/0.35m
25 JID0171 126.0005 Teflon liner® 2.0x4.0mm 3m Red ; 4§ i £ & ® 2.0x4.0mm/3m/4 &
26 JJD0582 122.0031 Steel liner® 1.0-1.2mm 3m; $Ri% £ &® 1.0-1.2mm/3m
27 JDH6011 Spanner for MIG torches; MIG 121 1R F
Complete Torch
JDI0180 Torch autoMIG240 0° 3m euro adaptor/spring pins; 8 #11846240 0°/3m/3# 14t
JDI0187 Torch autoMIG240 45° 3m euro adaptor/spring pins; & #4240 45°/3m/3 1 ¢t

20 14 13 12

\—b/ét ‘(—

ALL FOR WELDING = 186 2 ll 15

THKTECH

Note: About the registered trade mark, reference number used are only for convenient research. We are no way affiliate v '\Ih mentioned registered trade marks and brand
EATFEE Z , ERHEAR (AREN)

14



AUTO MIG 500 =L R BND 300/350
v CE EN 609747 (€C) \ﬂ\ \‘\\ - v CE EN609747‘

RoHS RoHS
Technical d S . X
echnical data BARSH - Technical data BRASH
Cooling Aiﬂﬁaﬂt = § Water Cooled;k?@A = L) ) » S 8 Cooling A#175 3 Gas Cooled z=4
DL_lty C_ycle 1500 m:g:zloo/u 500Amp CO, ,450Amp 2 2 6.1 / /— Duty cycle 60% #%#%60% 300/350Amp CO,
Wire Size B£EE ®1.0-1.6mm 24 250/300Amp MIX
s Wire Size 1#£E#% ®0.6-1.6mm

b
I
EK

I T T

1 JDT0976 4392 NOZZLE D.12,5 BRASS BD 4392;1iM D.12,5 # i BD4392
1 JDT0724 145.0085 Gas nozzle ® 16mm ; fE#E ®16mm 401D-501D 2 JDVO0776-16 7491 CONTACTTIP D.1,6 BD SERIE 74; 5§ D.1,6 BD 74&7%|
2 JDV0016-12 140.0442 Contact tip® 1.2mmE-CU/M8x30 ; S B B ® 1.2mm/M8x30mm 3 JDG0671 4335 DIFFUSER BD 4335;4} it # BD 4335
3 JDG0535 030.0190 White ceramic gas diffuser; A & & 2 R 2% 401D-501D 4 JIK0056 4323R INSULATOR TORCHBODY BERNARD;# 144 4 [l BERNARD
4 JDG0032 142.0022 Contact tip holder M8x25mm; S BBl FE M8x25mm 401D-501D 3 JDA0726 QT2-45 TORCHHEAD/QT2/45DEGREE; #231/QT2/45F
5 JDJ0027 Torch Head auto 501D 45°; E 48 F 501D 45° 6 JIK0047 4780 NECK INSULATOR 478048 4B 5 & 4780
5.1 JAI6734 030.0019 Insulator 401D-501D; 45k # & 401D-501D 7-1 JDW0064 HANDLE/BLACK/BND;F /7 &/BND
6 JDW0682 Handle for auto MIG torch; MIGE 48 51 i F 1 72 JGU0983 HOOK/BND;££44/BND
6.1 JDWO0686 Handle for auto MIG torch : £ #MIGE #1485 7-3 JIR0020 5662 TRIGGER FOR BND/5662/YELLOW;BND#& Fi FF %/5662/& &
6. JGU0070 Screw M4x8 ;424 M4x8 7-4 JGU0627 SCRWE M3.5x0.6-10;42% M3.5x0.6-10
6. JGU0809 Spring for cable support;B8 45 % ¥ 38 & /=5 JGU0667 NUT M3.5x0.6-11 CH6.3/NICKEL PLATING;$ 2 #2 M3.5x0.6-11 CH6.3
7 JDJ0028 Torch Head auto 501D 0°; B #1# % 501D 0° 7-6 JGU0661-01 NUT M3.5x0.6-15 CH6.3/NICKEL PLATING; £ {242 M3.5x0.6-15 CH6.3
8 JDE0078 Cable assenbly 3m 401D-501D; 7k 4 B8 4548 3m 401D-501D 8 JD0O0137 COAXIAL CABLE 4.6M/4AWIRES;[= 4 B 45 40/4. 6K/ 475 ¥ 4] 4%
9 JGU0741 Clamp® 8.7 ;K $® 8.0 8-1 Juze711 4213B Back Fitting Cable BD4213B;H 48$% 3k BD4213B
10 JGU0733 Clamp®9.5; £ 9.0 8-2 JGU0941 MUT/BND;#% &/BND
11 JAU8081 501.0114 Quick connector water® 6mm ; 7K 4 R Sk ® 6mm 8-3 JGU0840 CABLE SUPPOR SPRING/BERNARD300-400;H 45 7 % F3 3% %/BERNARD300-400
12 JGU0881 Spring cable support 401D-501D; B8 45 % #% F 3 % 401D-501D 8-4 JIRO711 Female Trigger Wire Connector; 7 3 1% Il & 35 4 ¢4 (8)
13 JIK0788 Joint for MIG handle; MIG F # f Bk 3k 8-5 JIR0719 INSULATOR FOR CONNECTOR #fi ff () R B EE
14 JGU0074 Screw M4x6 ;42 22 M4x6 8-6 JDL0887 Heat shrink tubing : # 45 E®25mm/ K
15 JIK0783 Back box for water cooled; /K 41 fFIRE 8-7 JD0O0387 COAXIAL CABLE 4.6M/4WIRES; 5] 4 B8 /4. 6K/ 415 4% 1l 4
16 JIK0081 Adaptor nut; 184§ K12 & 8-8 JIR0001 INSULATOR TUBE/®3 M; & it &/ d30mm/K
17 JUC0068 501.2156 Euro central adaptor body/water cooling ; BX 2 7k 14 f s 38 /7K 4 8-9 JIR0751 Preinsulated Male Cylindrical Plug;[El # 1& #2 il £ 3 1 4 ()
18 JAU0082 501.0082 Liner nut; ¥ £ & #i X132 & 8-10 JAI0875 Joint With Spring;#s 3 & 5k 15
19 JLI0616 Output water tube M5x8mm 0.8m red;; EPDM 4542 & M5x8mm 0.8m 8-11 JTH0988 Rings For Cable Clamping D19,3X21,3X42;F 45 [E £ FI $ B D19,3X21,3X42
20 JIK0317 Plastic support for water cooling connector /red;7k /4L & 8-12 JUZ0601 BACK FITTING CABLE/BND;H #i$k/BND
21 JIK0319 Plastic support for water cooling connector/ blue;7k /1% & AR 8-13 JGUO0740 Clamp ®11,5mm;+ & ®11.5mm
22 JJD0237 Brass terminal® 3.0x4.5mm 0.35m; §fi 3% 22 & ® 3.0x4.5mm/0.35m 8-14 JGUO0731 Clamp ®20mm;k & ®20mm
23 JJD0221 126.0039 Teflon liner® 3.0x4.5mm 3m Yellow; 4 & £ & ® 3.0x4.5mm/3m/&E & 9 JIKO724 BACK BOX FORAIR COOLING:Z= 4/ E
24 JJD0591 122.0056 Steelliner®1.2-1.6mm 3m; fHE £ ED1.2-1.6mm/3m 10 JGU0074 SCREW M4X6 UNI 6107424 M4X6 UNI 6107
25 JDH6011 Spanner for MIG torches; MIG #2481 F 11 JIK0089 Gun Plug Nut/BINZEL TYPE/BRASS SCREW; )& 6 i % 42 &/BINZEL /47 43 &
12 JUCO0046 ASSEMBLY OF EURO CENTRE ADAPTOR/BND;BX = # 5 i 5k 48 #£/BND
13 JIR0061 INSULATOR TUBE/®5 M; 3 # &/ ®5 K
Complete Torch JDI0526 Torch auto MIG501D 0°3m euro adaptor/spring pins; B #1/2#8501D 0°/3m/3 4§+ 14 JJD0006 44215 Liner4,5m-1,2-1,6 mm.(44215);$R% £ % 4,5m-1,2-1,6 mm(44215)
JDI0522 Torch auto MIG501D 0°4m euro adaptor/spring pins;E #%&4£501D 0°/4m/3 14 £t
JDI0523 Torch auto MIG501D 0° 5m euro adaptor/spring pins; B &1 1&42501D 0°/5m/38 4 ¢+ Complete Torch JDU5781 TORCH BND300-350/3.6M/EURO ADAPTOR /248 BND300-350/3.6M/EX 2t 0
JDI0528 Torch auto MIG501D 45°3m euro adaptor/spring pins; B ##842501D 45°/3m/38 14 £+ JDUS787 TORCH BND300-350/4.6M/EURO ADAPTOR;/&# BND300-350/4.6M/EX =30
JDI0529 Torch auto MIG501D 45°4m euro adaptor/spring pins; B &1 1&4¢501D 45°/4m/38 M4 &+
JDI0520 Torch auto MIG501D 45°5m euro adaptor/spring pins;H #1184#501D 45°/5m /3 {4 $+ 14 - GBS
P ey
St m—— il 9 /

ALL FOR WELDING .-lm r
\HK'TECH a2/ 810/ 812’811/

TCI/

ALL FOR WELDING

TRHKTECH

Note: About the registered trade mark, reference number used are only for convenient research \/

\'H no w d) affiliate with mwnuoned registered trade marks and brand Note: About the registered trade mark, reference number used are only for convenient research. We are no way affiliate with mentioned registered trade marks and brand
SHIER, ERHEAR (AREHN) ERSHER, BEAHEARRT (AFEM)

15 | 16




BND 400

BND 300/350

RoHS

Technical data

Cooling ##153
Duty cycle 60% ##;%60%
Wire Size B£EE

I T T

c € EN 609747 ‘

BARSH

Gas Cooled =%
400Amp CO, ,350Amp MIX
®0.9-1.6mm

RoHS

Technical data

Cooling A#1A3
Duty cycle 60% &#;%60%

Wire Size 1B£E1Z

Description

c € EN 60974-7 .

RAREH

Gas Cooled =%
300/350Amp CO,
250/300Amp MIX
©0.6-1.6mm

88/

[ positon [ coss | mr [ meserpn |
8-7

1 JDT0976 4392 NOZZLE D.12,5 BRASS BD 4392;#M D.12,5 #4f BD4392
1 JDT0981 4491 NOZZLE D.19 BRASS BD4491;M5t# D. 19 ¥ BD4491 2 JDV0776-16 7491 CONTACTTIP D.1,6 BD SERIE 74; 588 D.1,6 BD 74% 51
2 JDV0770-16 1591 CONTACT TIP D.1,6 BD SERIE 74;5H# I D.1,6 BD 15%7% 3 IDG0671 4335 DIFFUSER BD 4335:4) % % BD 4335
AL
3 JDG0678 4635 DIFFUSER GASBD 4635,/ #% BD 4635 4 JIK0056 4323R INSULATOR TORCHBODY BERNARD;# #1454 [l BERNARD
4 JIK0053 4423 NOZZLE INSULATORY/BERNARD/4423; 155 ¥ & % 4/ BERNARD /4423 5 IDAO726 QT2-45 TORCHHEAD/QT2/45DEGREE; #3/QT2/45F
5 JDA0721 4790 TORCHHEAD/4790;#8 5i/BND400/4790 6 JIK0047 4780 NECK INSULATOR 478048 144 & 4780
6 JIK0047 4780 NECK INSULATOR 4780 & 4 & 4780 7-1 JDWO0064 HANDLE/BLACK/BND;F #/2 &/BND
7-1 JDWO0064 HANDLE/BLACK/BND;F /7% &/BND 7-2 JGU0983 HOOK/BND:#43/BND
7-2 JGU0983 HOOK/BND;##3/BND 7-3 JIR0020 5662 TRIGGER FOR BND/5662/YELLOW;BND#& i 7F /5662/3 &
7-3 JIR0020 5662 TRIGGER FOR BND/5662/YELLOW;BND#f Fl FF £/5662/& & 7-4 JIGU0627 SCRWE M3.5x0.6-10:48 £ M3.5x0.6-10
7-4 JGU0627 SCRWE M3.5x0.6-10;#2 £ M3.5x0.6-10 7.5 JGU0667 NUT M3.5x0.6-11 CH6.3/NICKEL PLATING;§% 8428 M3.5x0.6-11 CH6.3
7-5 JGU0667 NUT M3.5x0.6-11 CH6.3/NICKEL PLATING # #R#8 & M3.5x0.6-11 CH6.3 7-6 JGU0661-01 NUT M3.5x0.6-15 CH6.3/NICKEL PLATING #2428 M3.5x0.6-15 CH6.3
7-6 JGU0661-01 NUT M3.5x0.6-15 CH6.3/NICKEL PLATING #§$§ 425 M3.5x0.6-15 CH6.3 g pr—— COAXIAL CABLE 4.6M/AWIRES: 515 f #1404, 634/ AT sl 3
8 JD0O0147 COAXIAL CABLE 4.6M/4WIRES; 2] 4 H 4 40/4. 6K/ 475 #2 ) £ 8-1 JUz6711 4213B Back Fitting Cable BD4213B;H # 13k BD4213B
8-1 Juze71l 4213B Back Fitting Cable BD4213B;R 4i# 5k BD4213B 8-2 JGU0941 MUT/BND:#2 &/BND
8-2 JGU0948 MUT/BND #2/BND . 83 JGU0840 CABLE SUPPOR SPRING/BERNARD300-400;H # 3 % f # %/BERNARD300-400
8-3 JGU0840 CABLE SUPPOR SPRING/BERNARD300-400; 88 45 % # F 3% %/BERNARD300-400 a RO Female Trigger Wire Connector:JF 3 42 1 4 44 4 (1)
8-4 JIR0711 Female Trigger Wire Connector;f 3¢ {2 £ 5 #+ (&) 8-5 JIRO719 INSULATOR FOR CONNECTOR;$ §f f (£) il S8 K} th S5 5 5
8-5 JIRO719 INSULATOR FOR CONNECTOR;#Z#E# () BRI AL EE 8-6 IDLO887 Heat shrink tubing : S 45 & 25mm /3
i ing  IEE o
8-6 JDL0887 S UG ) (AT 8-7 JDO0387 COAXIAL CABLE 4.6M/4WIRES:[F) ik B8 45/4. 63K/ 475 5512
8-7 JDO0967 COAXIAL CABLE 4.6M/AWIRES;[5) 4 B8 #/4. 63K/ 4 5 1 2 B p— INSULATOR TUBE/®3 M2 8 &/ d30mm/3K
8-8 JIR0001 INSULATOR TUBE/®3 M;E &/ ®30mm/£ 8.9 JIRO751 Preinsulated Male Cylindrical Plug; Bl 1A {2 1 2 35 56 ¢ (1))
8-9 JIRO751 Preinsulated Male Cylindrical Plug; [ # 1R 4% # £ #5486 4 () il JAI0875 Joint With Spring; 33 S5k
8-10 JAIO875 Dafyte Wi SnE L S 8-11 JTH0988 Rings For Cable Clamping D19,3X21,3X42; 45 [ % F $fl B D19,3X21,3X42
8-11 JTH0988 Rings For Cable Clamping D19,3X21,3X42;8 4% [ % Fi {il B D19,3X21,3X42 8-12 Uz BACK FITTING CABLE/BND: 445/ BND
8-12 JUZ0601 BACK FITTING CABLE/BND;B #i##3k/BND 8-13 JIGU0740 Clamp ®11,5mm; & ®11.5mm
8-13 JGU0740 Clamp ®11,5mm; & ¢11.5mm 8-14 JGUO0731 Clamp ®20mm;+ $ ®20mm
8-14 JGU0731 Clamp ®20mm; & ®20mm 9 JIK0724 BACK BOX FOR AIR COOLING;Z 4 # fF 1%
9 JIK0724 BACK BOX FORAIR COOLING; =41 FIEE 10 JGU0074 SCREW M4X6 UNI 6107 424 M4X6 UNI 6107
10 JGU0074 SCREW M4X6 UNI 6107;#8£ M4X6 UNI 6107 1 JIK0089 Gun Plug Nut/BINZEL TYPE/BRASS SCREW 1248 i 5 4% &/BINZELR /4R 42 &
1 JIK0089 Gun Plug Nut/BINZEL TYPE/BRASS SCREW;/& 1t il R 12 &/BINZELR /4R 12 & 12 JUC0046 ASSEMBLY OF EURO CENTRE ADAPTOR/BND;BR = 5 # 5k 48 #/BND
12 JUC0046 ASSEMBLY OF EURO CENTRE ADAPTOR/BND;BR =X, 7 4R i 3k 48 #£/BND 13 JIR0061 INSULATOR TUBE/®5 M:# i &/ d5 K
13 JIR0061 INSULATOR TUBE/®5 M; 345 &/ 5 % 14 JJD0006 44215 Liner4,5m-1,2-1,6 mm.(44215) W% £ & 4,5m - 1,2-1,6 mm(44215)
14 JJID0006 44215 Liner4,5m-1,2-1,6 mm.(44215);{R% £ & 4,5m - 1,2-1,6 mm(44215)
Complete Torch JDU5781 TORCH BND300-350/3.6M/EURO ADAPTOR;#24 BND300-350/3.6M/EX 3 1 01
Complete Torch JDU5791 TORCH BND400/3.6M/EURO ADAPTOR;{24% BND400/3. 6M/BX X 3ZE 0O JDU5787 TORCH BND300-350/4.6M/EURO ADAPTOR; /24 BND300-350/4.6M/EX X0
JDU5797 TORCH BND400/4.6M/EURO ADAPTOR;#246 BND400/4. 6M/BX 30
14 8-9 8-14 8-13
[ 2 S =.=_L 11 9 [ 88/
! = Sy
b — Ia 11 9 ." — LY 4
ALL FOR WELDING w_ .-.-T"W 5ALL FOR WELDING .-l
- 12 -10 812/ 8-11, - 12 8-10 812/ 8-11
o / 0/ / « 10 /

Note: About the registered trade mark, reference number used are only for convenient research. Wi

17

re no w d) affiliate with mwnuoned registered trade marks and brand
i X TEEMER. SHEER, BRHEAR (AREM)

Note: About the registered trade mark, reference number of the model of the machine and spare parts, please see inner cover (company introduction)

ERTIEEMERR NBRREGNSERS ERHEAR (AREM)

18



BND 400

RoHS

Technical data
Cooling A#1AR

Duty cycle 60% ##;%60%
Wire Size B£E#&

[positon [lcods [ Rt | peseriptles |

a b~ W N =

o

7-2
7-3
7-4
7-5
7-6
8
8-1
8-2
8-3
8-4
8-5
8-6
8-7
8-8
8-9
8-10
8-11
8-12
8-13
8-14
9

10
1
12
13
14

Complete Torch

ALL FOR WELDING

TRHKTECH

c € EN 60974-7 .

BRARSH

Gas Cooled =%
400Amp CO, ,350Amp MIX
®0.9-1.6mm

JDT0981 4491
JDV0770-16 1591
JDG0678 4635
JIK0053 4423
JDA0721 4790
JIK0047 4780
JDWO0064

JGU0983

JIR0020 5662
JGU0627

JGU0667

JGUO0661-01

JDO0147

Juze711 4213B
JGU0948

JGU0840

JIRO711

JIRO719

JDL0887

JDO0967

JIR0O001

JIRO751

JAI0875

JTH0988

JUz0601

JGUO0740

JGUO0731

JIK0724

JGU0074

JIK0089

JUCO0046

JIR0061

JJD0006 44215

JDU5791
JDU5797

i/

NOZZLE D.19 BRASS BD4491;WH D. 19 #4F BD4491

CONTACTTIP D.1,6 BD SERIE 74,5 ¥ D.1,6 BD 1557

DIFFUSER GASBD 4635;%) 5% 28 BD 4635

NOZZLE INSULATORY/BERNARD/4423; R M 45 4 #4/BERNARD /4423
TORCHHEAD/4790;1¢3%1/BND400/4790

NECK INSULATOR 47804 s 45 & 4780
HANDLE/BLACK/BND;F#%/%&/BND

HOOK/BND;#44/BND

TRIGGER FOR BND/5662/YELLOW;BND#f i FF 35/5662/% &

SCRWE M3.5x0.6-10;#%£2 M3.5x0.6-10

NUT M3.5x0.6-11 CH6.3/NICKEL PLATING;$ {242 M3.5x0.6-11 CH6.3
NUT M3.5x0.6-15 CH6.3/NICKEL PLATING;$# {242 £ M3.5x0.6-15 CH6.3
COAXIAL CABLE 4.6M/4WIRES;[G] 4 F8 45 48/4. 6K/ 41 ¥ #ll 4

Back Fitting Cable BD4213B;E 4533k BD4213B

MUT/BND;#2 &/BND

CABLE SUPPOR SPRING/BERNARD300-400; 8 4 % # f 3 #/BERNARD300-400
Female Trigger Wire Connector; FF 3% 2 1l 4 $  ¢ (B)

INSULATOR FOR CONNECTOR i ¢ (B) B BEEE

Heat shrink tubing : ¥ 45 d25mm/kK

COAXIAL CABLE 4.6M/4WIRES;[E] 4 8 45/4. 6K/ 4k ¥ 1l 4

INSULATOR TUBE/®3 M; & 4 &/ d30mm/*

Preinsulated Male Cylindrical Plug; B 44k % #l £ 3% & ¢ (1)

Joint With Spring;# 38 # ¥k 15

Rings For Cable Clamping D19,3X21,3X42;H 4% /£ 3% Fi {f B D19,3X21,3X42
BACK FITTING CABLE/BND;H 4% 3k/BND

Clamp ®11,5mm;+$ ®11.5mm

Clamp ®20mm; = §i§ ®20mm

BACK BOX FOR AIR COOLING;Z= 4 it [FiE

SCREW M4X6 UNI 6107;#242 M4X6 UN| 6107

Gun Plug Nut/BINZEL TYPE/BRASS SCREW;JE it il S 42 f/BINZELR /R 18 &
ASSEMBLY OF EURO CENTRE ADAPTOR/BND;EX = 5 s 4 3k 42 £4/BND
INSULATOR TUBE/®5 M; & i &/ d5 %

Liner4,5m-1,2-1,6 mm.(44215);${3i£ £ % 4,5m-1,2-1,6 mm(44215)

TORCH BND400/3.6M/EURO ADAPTOR;&#t BND400/3. 6M/BX X #E O
TORCH BND400/4.6M/EURO ADAPTOR; /&4t BND400/4. 6M/BR X #E O

8-14 B8-13

F”/_/

11 9

8-10/ 8-12/ 8_11/

10

Note: About the registered trade mark, reference number of the model of the machine and spare parts, please see inner cover (compmy introduction)

19

R TEEMER NRREGNSERSHIR, ERHEEAR (AREM)

TORCH P180

RoHS

Technical data

Cooling ##153
Duty cycle 60% #%#;%60%
Wire Size B4 812

c € EN 60974-7 ‘

RASH

Gas Cooled 5%
200Amp CO, ,160Amp MIX
®0.8-1.2mm

10
11
12
13
14
15
16
17
18
19
20

21

Complete Torch

5ALL FOR WELDING

TSHK-TECH

JDT0467

JDV0757-10

JDA0751

JDW0806-01

JIR0197

JGuU0871

JGU0885

JGU0836

JDO0110-01

JAI7076

JGU0832

JGU0031

JGU0080

JIKO704

JIR0760

JAU9010

JGU0814

JLI0679

JJD0562

JDH6011

JDH6018

JDU6542-36

JDU6543-36

JDU6544-36

l /ﬂ

Description

Nozzle PAN 180;RtHé/H 3180

Contact tip ® 1.0 M6x45; S B I ® 1.0 M6x45

Torch head PAN 180;#¢ #i/H 180

MIG handle PAN180; MIGF #/H #.180

Switch for MIG/PAN; ¥ & 7F 3/H R 16 A

Spring for switch/PAN ; 3 %/H R 46 W Eh 71 < A

Screw M3x10mm;#2£2 M3x10mm

Spring cable support;FB 45 X £ A8 E

Coaxial cable assembling /3m/PAN;E 44 B 2548 /3m/H X

Gas connector for MIG torch/PAN; B X 1 /5 S & 1k
Spring cable support/PAN;E 4 37 4 fl s %/H &
NutM4; X B2 & M4

Screw M4x20;42 22 M4x20

Back box for PAN torch; ;R &/HR

Connector 2 holes/with connectors/PAN; 7 its fil 1
Connector with hexagonal nut 9/16-18;3% 3k 7 9/16-18 ;N fR1EH

Spring for gas tube; S & A &

EPDM tube 5x10 300mm;EPDME 5x10 300mm

Insulated steel liner 0.8-1.0 3.1m Black PAN 180;5 4 B 4% 0.8-1.03.1m/Z&/H=X180
Spanner for MIG torches; MIG 1248} F

Spanner for PAN torch; H X #6 B A AR F

MIG 180 torch 3m PAN;/£#£180 3m H =
MIG 180 torch 4m PAN;(24£180 4m AR

MIG 180 torch 5m PAN;/£#180 5m A

14 1

T
F N

Note: About the registered trade mark, reference number of the model of the machine and spare parts, please see inner cover (company introduction)

2458

ERTIEEMERR NBRREGNS

ERHEAAR (AFEM)

20



TORCH P350
C € eveoorar "

RoHS

Technical data

Cooling A#155
Duty cycle 60% ##;%60%
Wire Size B£E#E

T T T

10
11
12
13
14
15
16
17
18
19
20
21
22
23
24

Complete Torch

.5 ALL FOR WELDING

TSHK-TECH

Note: About the registered trade mark, reference number of the model of the machine and spare parts, please

21

RAREH

Gas Cooled 5%
340Amp CO, ,320Amp MIX

®0.8-1.6mm -
_\ ~J8
l /ﬁ
oo 2 \18
22
F o 1

Description

JDT0407 Nozzle P350; Mk H X350
JGU0679 Grower M21mm; % 23 M21mm
JDV0757-10 Contact tip® 1.0mm E-CU M6x45; S B # ®1.0mm E-CU M6x45mm

JDG0987 Ceramic diffuser P350; (& 47z H=R350
JDT6610 Insulator P350; 4 %k & H X350

JDA0750 Torch head P350;4# % HxX350

JDG0982 Torch head front part P350;# AT HRX350
JDWO0861-01 MIG handle P350/500; MIGF# H3x350/500

JGU0885 Screw M3x10mm; #2£ M3x10mm

JIR0197 Switch for MIG/PAN; i &1 7 </ B X 46 A
JGU0871 Spring for switch/PAN ; 38 &/H R 4 W zh 7+ = B
JAI0875 Joint with spring; 38 E Bk 15

JDO0199-01 Coaxial cable 3m;[E % 4548/3m

JAI7076 Gas connector for MIG torch/PAN; 5 & #k/HR

JGU0832 Spring cable support; B4 X ## @ &/ A X

JIK0704 Back box; FHE/HR

JGU0031 Nut M4; 75 428 M4

JGU0080 Screw M4x22mm;#2%2 M4x22mm

JIR0760 Connector 2 holes; & it fii 1/ B 20/ 12 $1) 2 335 55

JAU9010 Connector with hexagonal nut 9/16-18 ;3 3<9/16-187< f 12 &
JGU0814 Spring for gas tube ; 5 & i 3 &

JLIO679 EPDM tube ® 5x10mm 300mm; EPDME&® 5x10mm 300mm
JJD0521 Green steel liner® 1.0-1.2mm 3m ;TR LE R ELEO1.0-1.2mm/3m/F &
JDH6011 Spanner for MIG torches; MIG 124837 F

JDH6018 Spanner for PAN torch; BN A 7N iR F

JDU6241-36 MIG P350 torch 3m PAN;/&#¢350 3m H=X

JDU6247-36 MIG P350 torch 4m PAN;/£4£350 4m B

JDU6248-36 MIG P350 torch 5m PAN; 184350 5m H=

ST o8

e inner cover (company introduction)
SHEER, WAHEAR (AREM)

ERTEEMER, NERREAH

TORCH P500
C € vommr

Technical data HARSH

Cooling A#1757

RoHS

Gas Cooled 5%

Duty cycle 35% ##% 35%  500Amp CO, ,450Amp MIX
Wire Size B4 B

®©0.8-1.6mm

I T T

1 JDT0468

2 JGU0670

3 JDVO0757-12

4 JDG0989

5} JDT6614

6 JDAO0758

6.1 JDG0986

7 JDWO0861-01

8 JGU0885

9 JIR0197

10 JGU0871

11 JAI0875

12 JDO0191-01

13 JAI7076

14 JGU0832

15 JIKO704

16 JGU0031

17 JGU0080

18 JIRO760

19 JAU9010

20 JGU0814

21 JLI0679

22 JJD0529

23 JDH6011

24 JDH6018

Complete Torch JDU6251-36
JDU6257-36
JDU6258-36

.5 ALL FOR WELDING

TSHK-TECH

Note: About the registered trade mark, reference number of the model of the machine and spare parts, please

191.0001

e
e — = o /S

! 24 21
el 23 _\

Description

Nozzle P500;iEM/H 3 500

Grower M25mm; &% 23 # M25mm

Contact tip ®1.2mmE-CU/M6x45; S E M ©1.2mm/M6x45mm

Ceramic diffuser P500;B§& %8 H=X 500

Insulator P500; 44 f5/H = 500

Torch head P500; H X500 4t 3

Torch head front part P500;4& FATER HX500

MIG handle P350/500; MIGF# H3:X350/500

Screw M3x10mm; #%£2 M3x10mm

Switch for MIG/PAN; iz 7 5/H 48 A

Spring for switch/PAN ; 38 #/H 3\ 46 i &) FF < A

Joint with spring;# 3% # Bk 5

Coaxial cable 3m; G4 4 40/3m

Gas connector for MIG torch/PAN; S & ##3/A

Spring cable support; B3, 45 37 $## F 38 #/H X

Back box; FHE/HR

Nut M4; <R IEE M4

Screw M4x22mm;#2£2 M4x22mm

Connector 2 holes; F s i i

Connector with hexagon nut9/16-18;$#3k9/16-187X f 12 &

Spring for gas tube ; 5 & F 3 &

EPDM tube ®5x10mm 300mm ; EPDME ® 5x10mm 300mm

Black steel liner ®1.2-1.6mm 3m; {4 Bk £ % ©1.2-1.6mm/3m/E &
Spanner for MIG torches; MIG (2484 F
Spanner for PAN torch; HRX i€ SRR F
MIG P500 torch 3m PAN;%&48500 3m H =

MIG P500 torch 4m PAN;#&4¢500 4m H=
MIG P500 torch 5m PAN;¥24£500 5m H =

15 14

inner cover (company introduction)

FERTIEEMERR, EREHEAR (RBEM)

22



TW-180

RoHS

Technical data RARSH

Cooling A#1HR Gas Cooled 54

Duty cycle 60% ##%60% 180Amp CO, ,120Amp MIX
Wire Size B£HE ®0.6-1.2mm

w’
Euro

1 JDT0097

2 JDV0773-08
3 JDG0074

4 JDA0083

5 JIR0073

6 JDWO0764

7 JDO0811

8 JJD0077-03

Complete Torch
JDU5611
JDU5617
JDU5618

JDU5626
JDU5622

JDU5623
JDU5624
JDU5625

JDU5631

ALL FOR WELDING

IMK-TECH

23

C € mvomrar @

21-50 Gas nozzle ®12. 5;1%H ®12.5mm
11-30 Contact tip 0.030"; S E8 1% 0.030’
51 Diffuser 51; # 88 51

61-60 Conductor tube 60°;#¢%i 60°

91 Trigger switch assembly ;7 3% & &
81 MIG handle with screw; F &7 12 £

Cable assembly;H 45 48

Steel liner 11' 0.030”-0.035";$¥i% £ & 11’ 0.030"-0.035”

110-3035 TW1 Torch 3m; TW14¢ 3m

112-3035 Twl Torch 4m;TW14t 4m

115-3035 Twl Torch 4.6m;TW1#t4. 6m

X110-4045 TW1 Torch 3m euro adaptor; TW14f 3m B = 52 3 3k
X112-4045 TW1 Torch 4m euro adaptor; TW14¢ 4m BR = & R i 3k
X115-4045 Tw1 Torch 4.6m euro adaptor; TW1# 4.6m BX =X o s $fi Sk
M110-3035 Tw1 Torch 3m Miller adaptor; TW14t 3m K #1/F# 0
M112-3035 Tw1 Torch 4m Miller adaptor; TW14¢ 4m K#/EH 0
M115-3035 Twil Torch 4.6m Miller adaptor; TW14¢ 4.6m k&5 0O

cover (uﬂmnmv introduction)
i IT ; ’] ,—AEJUEM ERHEAR (AREM)

TW-200
C € enomnar

RoHS

Technical data

Cooling A#17AR
Duty cycle 60% ##%60%
Wire Size B£HE

10
11
12
13
14
15

16

Complete Torch

5ALL FOR WELDING

TSHK-TECH

RAREH
Gas Cooled 5%

200Amp CO, ,150Amp MIX
®0.6-1.2mm

Miller

JDT0790 22-50
JDL0691 32
JDV0019-09 14-35
JDGO0088 52
JDA0602-02 62J-45
JDWO0703 83
JIR0074 81
JIK0798

JGU0801-01

JDO0709-300

JGU0835-01

JIK0607

JGU0074 EA0018
JAI7062

JUP0003

JJD0078-06

JDU5711
JDU5717
JDU5718
JDU5726
JDU5722

JDUS723

JDU5724 M210-3035

JDU5725 M212-3035

JDU5731 M215-3035

2 3 4 5
/S S S /o
s - - —— S —

Gas nozzle ®12.7;B M & 12.7mm
Insulator ;4 & &
Contact tip 0.035";F B 1 0.035’

Diffuser ;% it 2%

Torch head 45GR/62J-45/Nickel-Plated outer tube /With fitting
HH 456R/62J-45/4 1R INE/H L

MIG handle with screw;MIGZE #& # 12 2

Trigger switch assembly;FF %X E 4

Joint for TW1-4;F 1% F3 ¥k Sk/TW1-4

Spring for cable support/Zin/TW;E 4 % 1% F S8 & /48 B 5/ TW
Cable assembly/3M;H 4540/ 3%

Spring for cable support/Blue and white zinc plating;F 4 3 % 3 58 /4% 15 3 §%
Back box with closing ring; /518 &/& i K I

Screw M4x6;#2£ M4x6

Continental adapter / Miller M10X1; BXR 4 #iE 3/ k&M 10X1
Connetecing adaptor TW1-4;3% 3% k& 4/ TW1-4

Steel liner 11'0.030”-0.035";$8i% £ & 11’ 0.030"-0.035”

TW2 Torch 3m;TW2i¢ 3m

TW2 Torch 4m; TW2#t 4m

Tw2 Torch 4.6m; TW24fs 4.6m

TW?2 Torch 3m euro adaptor; TW24t 3m/EX = 1 2R 1 Sk
TW2 Torch 4m euro adaptor; TW24& 4m/BR = th R 1 Sk
Tw2 Torch 4.6m euro adaptor; TW2#t 4.6m/BX = A RHFHk
Tw2 Torch 3m Miller adaptor; TW2#t 3m K #/E5H 0

Tw2 Torch 4m Miller adaptor; TW2it 4m K #1510

Tw2 Torch 4.6m Miller adaptor; TW2if 4.6m K #1530

15 14 A2 L

13—\‘ ==

*7*TEDF‘WW

AFENT)

24



TW-300

RoHS

Technical data

Cooling A#HR
Duty cycle 60% #&#;%60%
Wire Size B£EH®E

10/

10
11

12
13
14
15

16

Complete Torch

.5 ALL FOR WELDING

TSHK-TECH

C € mnomrar @

——a - - — S '
- - & .

BRARSH

Gas Cooled 5%
300Amp CO, ,250Amp MIX

®©0.8-1.6mm

o A

JDT0602 24A-62 Gas nozzle ®16;M B ® 16mm

JDL0697 34A Insulator; 4 & &

JDV0019-12 14-45 Contact tip 0.045"; 5 i 0.045’

JDGO0081 54A Diffuser ;9 ik 8%

JDA0605-01 63J-45 Conductor tube 45°#t 3 45°

JDWO0703 83 MIG handle with screw;MIGF A # 12 £

JIR0074 Trigger Kit; FF X &4

JIK0798 JOINT FOR TW1-4;F % F§ Bk 5k/TW1-4

JGU0801-01 Spring for cable support/Zin/TW 8 4 3 1% A 8 & /98 B/ TW
JDO00911 Cable assembly/3M;E 45 4B/ 3K

JGU0835 Spring for cable support/Blue and white zinc plating;E8 4 3z # F 38 & /4% 15 2
JIK0883 Back box with closing ring;/5 8 £/& i £ 3

JGU0074 EA0018 Screw M4x6;#242 M4x6

JAIT062 Continental adapter / Miller M10X1; BEX3X##4% 3/ %M 10X1
JUP0003 Connetecing adaptor TW1-4;4% $# Sk E#/TW1-4
JJD0078-06 Steel liner 11°0.030”-0.035";$/ % £ & 11°0.030"-0.035"
JDU5811 310-3545 TWS3 Torch 3m;TW3#t 3m

Jbu5817 312-3545 TW3 Torch 4m;TW348 4m

JDU5818 315-3545 Tw3 Torch 4.6m; TW34t 4.6m

JDU5826 X310-3545 TW3 Torch 3m euro adaptor; TW3#t 3m BR = i i sk
JDU5822 X312-3545 TW3 Torch 4m euro adaptor; TW34t 4m BX R & 4 Sk
JDbU5823 TW3 Torch 4.6m euro adaptor; TW3#& 4.6m BX = & S 3 k
JDU5824 M310-3545 Tw3 Torch 3m Miller adaptor; TW3#¢ 3m K #1/F# 0O
JDU5825 M312-3545 Tw3 Torch 4m Miller adaptor; TW3#t 4m K 1530
JDU5831 M315-3545 Tw3 Torch 4.6m Miller adaptor; TW3#t 4.6m K #/F# 0O

1

o

12 11
14 —

/_ S
e —

Note: About the registered trade mark, reference number of the model of the machine and spare parts, please see inner cover (company introduction)

25

ERTEEMER MR REH HSHER, ERHERR (AFREM)

TW-400
C € evoowrer

RoHS

Technical data

Cooling A%

Duty cycle 60% ##%60%

Wire Size B£HE

10/

10
11

12
13
14
15

16

Complete Torch

.5 ALL FOR WELDING

TSHK-TECH

BRARSH

Gas Cooled 5%

400Amp CO, ,350Amp MIX

®0.8-2.0mm

JDT0602

JDL0697

JDV0010-12

JDGO0081

JDA0600-01

JDW0704

JIR0092

JIK0788

JGU0887-02

JD0O0919

JGU0835

JIK0883

JGUO0074

JAI7062

JUP0003

JJD0010-03

JDU5911

JDU5917

JDU5918

JDU5926

JDU5922

JDU5923

JDU5924

JDU5925

JDU5931

Miller

24A-62

34A

14-116

54A

84A

EA0018

410-3545

412-3545

415-3545

X410-3545

X412-3545

X415-3545

M410-3545

M412-3545

M415-3545

Gas nozzle ® 16;BiH ® 16mm

Insulator ;4 % &

Contact tip 1.2/ 1/4-28X37.4; S B M 1.2/1/4-28X37.4
Diffuser ;5 iR 88

Torch head 60GR/TW4/64J-60/Nickel-plated outer tube ; #5i 606R/TW4/64J-60/5E R INE
MIG handle with screw;MIGZE i # 12 2

Trigger Kit/ TW; FF £ E#/TW

Joint for MIG handle;MIG F 1 F Bk 5k

Spring for cable support/Zin/Long/TW; B 4t X 12 F 3 % /48 B /M K/ TW
Cable assembly/3M ;B 48 40/ 3%

Spring for cable support/Blue and white zinc plating; B £ 5z 1 i 3% & /48 15 B &
Back box with closing ring; G &/& §i £ IR

Screw M4x6;82%2 M4x6

Continental adapter / Miller M10X1; BR =4 #3E /% # M10X1
Connetecing adaptor TW1-4;5 $# 3% 4/ TW1-4

Steel liner 3.4M 0.9-1.2/TW; % 2% 3.4 0.9-1.2/TW

TW4 Torch 3m;TW44¢ 3m

TW4 Torch 4m; TW44t 4m

TW4 Torch 4.6m; TW44ts 4.6m

TWA4 Torch 3m euro adaptor; TW44t 3m BR = o s 4 3k
TW4 Torch 4m euro adaptor; TW44t 4m BR = o s 4 sk
Tw4 Torch 4.6m euro adaptor; TW4#t 4.6m ER R, A R i Sk
Tw4 Torch 3m Miller adaptor; TW44t 3m K #1f54E 0

Tw4 Torch 4m Miller adaptor; TW44t 4m K #1510

Tw4 Torch 4.6m Miller adaptor; TW4it 4.6m K #1530

14 /iQ /_

Jr-.
S— ]
— il

o

i

Note: About the registered trade mark, reference number of the model of the machine and spare parts, please see inner cover (company introduction)

R TTEEMERR. A28 A2 ERHEATT (AREMN)

26



1 2 3
e,
/ Yo
—— =
TW-500 SUPER MAXI 150
C € Encoora7 C € Encoora7
RoHS —_— RoHS —_—
Technical data RARSH Technical data BARSH
Cooling #1753 Gas Cooled 5% Cooling #1753 Gas Cooled 5%
Duty cycle 60% ##;%60% 400Amp CO, ,350Amp MIX Duty cycle 60% ##%60% 180Amp CO, ,140Amp MIX
Wire Size R4&H#E ©0.8-2.0mm Wire Size B£HE ®0.6-1.2mm

Miller 3
— \
197°

1 JDT0748 25CT62 Gas nozzle ® 16/ M ®© 16mm 1 JDT0012 MC0006 Gas Nozzle ©14 ;iEHE ® 14

2 JDT0749 35CT Insulator;#& & & 2 JDV0014-08 MDO0008-08 Contact tip ® 0.8;SH I ©0.8

3 JDV0019-16 14-116 Contact tip 1/16”; S E M 1/16” 3 JDA0018 MF0002 Torch head;# %

4 JDG0087 55 Diffuser; % it &% 4 JDWO0068 MP0052 Handle; F1%

5 JDA0097-01 65J-60 Conductor tube 60°;4#8 % 60° 5 JIR0081 BX0020 Trigger; /248 F 7F 5%

6 JDWO0765 85 MIG handle with screw;MIGF # & 42 2 6 JDO0871 MHO0310 Coaxial cable ;BB 45 4R

7 JIR0092 94R Trigger Kit/TW;FF £ & #/TW 7 JGU0808 EA0342 Spring cable support; 3z #3538 &

8 JIK0788 Joint for MIG handle;MIG F 4% B 5k 8 JIK0656 BWO0195 Back box,/FHE

9 JGU0887-02 Spring for cable support/Zin/Long/TW;H 45 3 4% F 3% % /4% B %/ /W 9 JGU0074 EA0018 Screw;#% £

10 JDO0705 Cable assembly/3M;H8 48 48/ 3k 10 JIK0074 BW0018 Adaptor nut;X24¢ §i F iR

11 JGU0835 Spring for cable support/Blue and white zinc plating; B 4% 37 % 3 58 &/4% 15 B $¢ 11 JUC0049 AR0083 Central adaptor TW/Euro M12x1/Spring pins; s Rk TW/Euro M12x1/38 4 &t
12 JIK0883 Back box with closing ring;/& 18 &/2 §i E I 12 JAU0083 FA0027 Liner nut M11x1;3% £ & 8 R M1lx1l

13 JGU0074 EA0018 Screw M4x6:4242 M4x6 13 JJD0077-03 Steel liner 3.4m 0.8-1.0mm;% £ & 3.4m 0.8-1.0mm
14 JAI7062 Continental adapter / Miller M10X1; BXZ ¥ #4% 3/K % M10X1 14 JDH6011 Spanner for MIG;MIG 12481 F

15 JUP0003 Connetecing adaptor TW1-4;%5 3 3L % 4F/TW1-4

16 JJD0010-03 Steel liner 3.4M 0.9-1.2/TW;$Ri% £ & 3.45K 0.9-1.2/TW

Complete Torch

JDU5511 TWS5 Torch 3m; TW54& 3m

JDU5517 Tw5 Torch 4m; TW54 4m

JDU5518 515-116 Tw5 Torch 4.6m; TW54€ 4.6m

JDU5526 Tw5 Torch 3m euro adaptor; TW5#: 3m BX 3 A 5 1 sk

JDU5522 Tw5 Torch 4m euro adaptor; TW5# 4m BX = 52§ 3k

JDU5523 Tw5 Torch 4.6m euro adaptor; TW5# 4.6m EX = 5 5 4 Sk Complete Torch

UGS SIS TWS Torch 3m Miller adaptor:TW5# 3m k#1830 JDU1626 MA6165 MIG MAX150 torch 3m Euro/TW with spring pins;/&4 MAX150/3m/3 4 £H/ER X

IDUS525 M515-116 TWS Torch 4m Miller adaptor:TW5# 4m ¥ #1801 JDU1622 MA6166 MIG MAX150 torch 4m Euro/TW with spring pins;{24 MAX150/4m/3# {4 $H/BX X

JDU5531 TWS5 Torch 4.6m Miller adaptor; TW54 4.6m K #1/5# 0 JDU1623 MA6167 MIG MAX150 torch 4.6m Euro/TW with spring pins;#24 MAX150/4.6m/3# 1% §/Bx 3
15 11 12 1 19 8 7

14 12 —
g a £ et . e
TSHV-TECH ) —) TWHV.TECH T -

Note: About the registered trade mark, reference number of the model of the machine and spare parts, please see inner cover (company introduction) Note: About the registered trade mark, reference number of the model of the machine and spare parts, please see inner cover (company introduction)
ERTEMER. Y28 RECHH WS HERE, ERHEAR (AREM) i ATFEEMER MR REHHSE ERHEATT (AREMN)

27 28




SUPER MAXI 250

RoHS

Technical data

Cooling A#1HR
Duty cycle 60% ##;%60%
Wire Size R4E&H#E

c € EN 60974-7 .

BRARSH

Gas Cooled 5%
180Amp CO, ,140Amp MIX
©0.6-1.2mm

I T T T

8.1

10
11
12
13
14
15
16
17
18
19
20

21

Complete Torch

ALL FOR WELDING

TRHKTECH

-

o
-

JDT0684 MC0128 Gas Nozzle ®16 ;Wi d16

JDV0019-10 MD0003-10 Contact tip ® 1.0; S EH © 1.0

JDG0017 MEO0001 Gas diffuser ;9 8%

JDA0630 Torch head 45°;#8 51 45°

JDA0639 Torch head 60°;#8 5 60°

Juzoos3 AU0027 Gas Hose Nipple;##k

JDH0031 MT0070 Adjusting Block Kit Clamp;iE fir

JDWO0866-01 Handle: F#

JIK0683 Hanger for handle MAXI250 @ 16;MAX| 4% B #E4IMAXI250 ® 16
JIR0081 BX0020 Trigger;} &4 F 7F %

JGU0885 Screw 3.0x10;#2%2 3.0x10

JIK0788 BW0319 Joint with spring;# 38 & k¥

JDO0709 MH0243 Coaxial cable 3m;E 4548 3m

JGU0808-01 EA0342 Spring cable Support; 3 4 3 &

JIK0656 BWO0195 Back box;FiRE

JGU0074 EA0018 Screw M4x6;8242 M4x6

JIK0081 BW0020 Gun plug nut; 24t §i %48 &

JUC0049 AR0083 Central adaptor TW/Euro M12x1/Spring pins; SRk TW/Euro M12x1/38 14§t
JAU0083 FA0027 Liner nut M11x1;3% 22 & §i F 12 H M11x1

JJD0078-06 Steel line 3.0m 0.8-0.9mm;i% £ & 3.0m 0.8-0.9mm

JDH6018 Spanner for Pan torch; B X1t B <A FE

JDH6011 Spanner for MIG;MIG 1248 F

JDU1726-36 MA6265 MIG MAXI 250 torch 3m with spring pins; &4t MAXI 250/3m/3# 14 $t
JDU1722-36 MA6266 MIG MAXI 250 torch 4m with spring pins; &4 MAXI 250/4m/3 4% §t
JDU1723-36 MA6267 MIG MAXI 250 torch 5m with spring pins;&4& MAXI 250/5m/3# 14 $t

18 17 16 14 13

/S /

— el

15—, —

Note: About the registered trade mark, reference number of the model of the machine and spare parts, please see inner cover (compdmy introduction)

29

R TEEMER NRREGNSERSHIR, ERHEEAR (AREM)

SUPER MAXI 350

RoHS

Technical data

Cooling A5
Duty cycle 60% ##;%60%
Wire Size R4£&#&

8.1
9
10
11
12
13
14
15
16
17
18
19
20
21
22

Complete Torch

5ALL FOR WELDING

TSHK-TECH

c € EN 60974-7 .

BAREH

Gas Cooled 5%
400Amp CO, ,300Amp MIX

®0.8-1.6mm

JDT0078

JDV0010-12

JDGO0019

JDL0648

JDAO0703

JUZ0695

JDH0038

JDW0866-01

JIK0681

JIR0081

JGU0885

JIK0788

JGU0887-01

JD0O0702

JGU0835

JIK0883

JGU0074

JIK0081

JUC0049

JAU0083

JJD0079-06

JDH6018

JDH6011

JDU1826-36

JDU1822-36

JDU1823-36

MC0012
MD0004-12
ME0003
MQO0182
MF0247
AU0028

MT0072

BX0020

BWO0222

MH0246

EA0018

AR0083

FA0027

MA6365
MA6366

MA3667

) 22
A I

21

21

20

Description

Gas Nozzle ® 18 ;i ® 18
Contact tip® 1.2; 58K ©1.2
Gas diffuser; 4> 7 2%

Insulator for Torch head;# % ¥
Torch head ;#%i

Back fitting coaxial cable ;B2 #8 3%
Adjusting Block Kit Clamp;iE i 5t
Handle; F##

Hanger for handle ® 18;MAXI F#E M4 © 18
Trigger 124t f3 FF %

Screw 3.0x10;42£ 3.0x10

Joint for MIG handle;MIGF 4% F Bk k

Spring for cable support/Blue and white zinc plating; B £ 37 1% fJ 38 & /48 15 B &
Coaxial cable 3m;EE 4548 3m

Spring for cable support/Blue and white zinc plating; B 4 % 1% FJ 5 & /4% 15 B 5
Back box with closing ring; /5 &/& i X 3

Screw M4x6;#2£ M4x6

Adaptor nut;/&# 5 X125

Central adaptor TW/Euro M12x1/Spring pins; & R ##k TW/Euro M12x1/3 14§t
Liner nut M11x1;3% £ &8 K128 M11x1

Steel liner 3.4m 1.2-1.6mm;i% £ % 3.4m 1.2-1.6mm
Spanner for pantorch; B X AN AIRF
Spanner for MIG;MIG 18481 F

MIG MAXI 350 torch 3m with spring pins;#&# MAXI 350/3m/3 14 t
MIG MAXI 350 torch 4m with spring pins;#&#t MAXI 350/4m/3d 14 §t

MIG MAXI 350 torch 5m with spring pins;/&4t MAXI 350/5m/3 4 ¢t
17 15 14

Note: About the registered trade mark, reference number of the model of the machine and spare parts, please see inner cover (company \rmoducnon)

ERTIEEMERR. AaE

ERHERT (AREMT)

30



i L vl e ==L & ‘e
SUPER MAXI 450 6 SUPER MAXI 4000

v, C € Eneoarat (© \o/l v, C € eneosra7 (€

Technical data BARESH Technical data BARSH
8 -
Cooling #1755 Gas Cooled 5% / Cooling 1753t i b
Duty cycle 60% ###%60% 500Amp CO, ,400Amp MIX Duty cycle 100% ##;%100% 400Amp CO, ,350Amp MIX
Wire Size B£EH®E ©0.8-2.0mm Wire Size R4£&%E ®1.0-2.4mm
CoonaD 2
i "o r
21 11 (W)
_/ ~ S

I . g

JDT0078 MC0012 Gas Nozzle ® 1815l © 18
1 JDT0078 MC0012 Gas Nozzle ® 18;M5 M © 18 2 JDV0016-12 MD0005-12 Contact tip ® 1.2/M8; S EB B ® 1.2/M8
2 JDV0016-12 MD0005-12 Contact tip ® 1.2/M8; S ELl ® 1.2/M8 3 JDG0015 ME0009 Gas diffuser; 53 i &
3 JDG0012 MEO0006 Gas diffuser ;57 % 2 JEUTZ MEETE el [EECHEE
5 JDHO0038 MT0072 Adjusting Block Kit Clamp;E i &
4 JDL0648 MF0182 Insulator for Torch head;4 % ¥
6 JDWO0866- 01 Handle;F#&
5 JDA0042 MF0086 Torch head ;#&3
7 JIR0081 BX0020 Trigger;}&4¢ A FF %
6 JUZ0695 AU0028 Back fitting coaxial cable of MAXI;MAX| 4 B8 45 #3 3k
8 JGuU0885 Screw 3.0x16;#2%2 3.0x16
7 JDH0038 MT0072 Adjusting Block Kit Clamp;iE fir i
9 JIKO788 BX0222 Joint for MIG handle;F # F Bk sk
8 JDW0866-01 Handle; F4%
10 JGu08s1 EA0320 Spring cable support;H 45 37 1E A 38 &
8.1 JIK0684 Hanger for handle ® 20;MAXI| F4% F # 50 20 1 JDE00SS MN0022 Cable assenbly:7k & 4 48
i <l
9 JIR0081 BX0020 Trigger 246 A FF X 12 JIK0726 BW0265 Handle closing ring;F #4 % £F
10 JGU0885 Screw 3.0x10;4#% %2 3.0x10 13 JIK0774 Back box for water cooled torches;7kK )25 E
11 JIK0788 BW0222 Joint for MIG handle;MIG3F 4% F Bk 3k 14 JGUO0733 Clamp ® 9.0mm;F% ® 9.0mm
12 JGU0887-01 Spring for cable support/Blue and white zinc plating; B 45 1% F 3# & /4% 15 (5 4% 15 JAUB081 Quick connector water ® 6mm;zk % RIEHHL & 6mm
13 JD0O0705 Mh0249 Coaxial cable 3m;EL #4540 3m 1B JGU0074 Screw M4x6:#2 22 M4x6
14 JGU0835 Spring for cable support/Blue and white zinc plating; B £ 5z 1 i 3% & /48 15 B & 17 Jeuorrs Hose support for water cooled rear box;zk & 37 #
18 JIK0083 Adaptor nut/Blue;§i % 42 &/1&
15 JIK0883 Back box with closing ring; /g &/& #i X 3 P 8
19 Jucoe618 AR0102 Euro centre adaptor/water/maxi/spring pin;BER =X f S 3 3k /7K 74 IMAXI /58 M §+
16 JGU0074 EA0018 Screw M4x6;#2 £ M4x6
20 JAU0082 IFA0026 Liner nut;i% £ & 4 R IR
17 JIK0081 Adaptor nut;i§48 $i K2
21 JLIO616 QB0105 EPDM output water tube ® 5x8mm 0.8m red;EPDM H 7k& ® 5x8mm 0.8m Red
18 JUuC0049 AR0083 Central adaptor TW/Euro M12x1/Spring pins; R #k TW/Euro M12x1/38 1% §t
a Sl 22 JJID0501 GMO0540 Insulated Steel Liner 1.2-1.6/3m/Yellow; &% BiX £ & 1.2-1.6/3m/FHE
Y E
19 JAU0083 FA0027 Liner nut M11x1;i% WREEG M1lx1 23 JDH6018 EA0297 Spanner for pan torch; B Xt A < AR F
20 JJD0079-06 Steelliner 3.4m 1.2-1.6mm;%¥ £ % 3.4m 1.2-1.6mm 24 JDH6E011 Spanner for MIG;MIG 1248 3% F
21 JDH6018 Spanner for pan torch; B it X AR F 25 JIK0317 Plastic support for water cooling connector red7k /4 &
22 JDH6011 Spanner for MIG;MIG 124 R F 26 JIK0319 Plastic support for water cooling connector bluezk /1% €&
Complete Torch
JDU1926-36 MA6465 MIG MAXI 450 torch 3m with spring pins;#&4& MAXI 450/3m/3# 1% §+ Complete Torch JDI7809-36 MB2343 MIG MAXI 4000 torch 3m with spring pins;X&4 MAXI 4000/3m/3& 14 §t
JDU1922-36 MAG466 MIG MAXI 450 torch 4m with spring pins;#&4& MAXI 450/4m/3 {4 4t JDI7800-36 MB2344 MIG MAXI 4000 torch 4m with spring pins; &4 MAXI 4000/4m/3# 14 §t
JDU1923-36 MAB467 MIG MAXI 450 torch 5m with spring pins;#&46 MAXI 450/5m/3 {4 £+ JDI7806-36 MB2345 MIG MAXI 4000 torch 5m with spring pins; &4t MAXI 4000/5m/3 {4 §t
14 ZU 19 18 13 12 9 10

ffrr '8 y= A g

ALL FOR WELDING ALL FOR WELDING : I

THK-TECH t— s TRHK-TECH 16—, B

Note: About the registered trade mark, reference number of the model of the machine and spare parts, please see mner cover (compmy introduction) Note: About the registered trade mark, reference number of the model of the machine and spare parts, please see inner cover (company introduction)
ERTEMER. Y28 RECHH ERHEAR (AREM) EATFEEMER NSRREGNSERS ERHEATT (AREMN)

31 32




SPARE PARTS E{tl: SUITABLE FOR FORNIUS #2#i% SPARE PARTS 314: SUITABLE FOR FORNIUS #/2#i%
c € EN 60974 AL 2300/AW 2500 c € EN 60974 AL 3000/AW 4000

RoHS

RoHS

/o /[

u LQI ooI \‘I
- - =
Nﬂ HI] Oﬂ on m'

1 JDA0971 34.0350.1875 Torch head AL2300 45°;AL2300 43 51 45° 1 JDA0977 34.0350.1771 Torch head AL3000 45°;AL3000 451 45°
2 JDJO771 34.0350.1876 Torch head AW2500 45°;AW2500 45 45° 2 JDJO777 34.0350.1812 Torch head AW4000 45°;AW4000 4% 45°
3 JAI1248 42.0100.0225 Insulator ® 16.9x13.1;48 4 3f ® 16.9x13.1 3 JAI1240 42.0100.1014 Insulator ® 14/ ® 16.9x13(AL3000);4: £k ¥ ® 14/ ® 16.9x13(AL3000)
4 JDG6011 42.0001.1718 Contact tip holder AL2300; S B M 2 AL2300 4 JAI1249 42.0001.1010 Insulator ® 14/ ® 16.9x11(AW4000);42 4 3F ® 14/ ® 16.9x11(AW4000)
5 JDV0818-10 Contact tip; 5 B B 5 JDG0018 42.0001.5084 Contact tip holder M8x1.25/SW14x28;5H I B2 M8x1.25/SW14x28
6 JAG0053 42.0001.5171 Retaining sleeve ;Wi 37 & 6 JDV0818-12 Contact tip; S B8
7 JDT0802 42.0001.5172 Gas Nozzle ® 17/ d 20x66.5;5h M © 17/ d 20x66.5 7 JAG0052 42.0001.2930 Retaining sleeve (AL3000/AW4000); i#37 & (AL3000/AW4000)
8 JDT0809 42.0001.5173 Gas Nozzle ® 12/ d 20x66.5 ;SMIEEHE D 12/  20x66.5 8 JDT0892 42.0001.5151 Gas Nozzle ® 11/ & 22x67;5MEEH ® 11/ d 22x67
9 JDT0806 42.0001.5174 Gas Nozzle ® 10/ d 20x66.5;5MEEME ® 10/ © 20x66.5 9 JDT0893 42.0001.5269 Gas Nozzle ® 15/ ® 22x67;5MNEHE © 15/ © 22x67
10 JDT0896 42.0001.6010 Gas Nozzle ® 12/ ® 20x62.5;5MN M ® 12/ ® 20x62.5 10 JDT0894 42.0001.5619 Gas Nozzle ® 13/ ® 22x65;5MNEEH © 13/ ® 22x65/58 5%
11 JDT0895 42.0001.5821 Gas Nozzle ® 17/ ® 22x67;5MEEHE O 17/  22x67
12 JDT0808 42.0001.5096 Gas Nozzle ® 13/ ® 22x67; 55 ® 13/ d 22x67
.5ALL FOR WELDING .5ALL FOR WELDING

TSHK-TECH TSHK-TECH



SPARE PARTS Bt

RoHS

c € EN 60974-7 ‘

SUITABLE FOR FORNIUS 3zt

AL 4000/AW 5000
/J
3
5
L 2
/o

10
11
12

13

ALL FOR WELDING

TRHKTECH

JDA0970

JDJO770

JAI1242

JAI1246

JDGO0014

JDV0818-16

JDG0543

JAG0056

JDT0807

JDT0801

JDT0803

JDT0804

JDT0805

34.0350.1822

34.0350.1820

42.0100.1018

42.0100.1016

42.0001.5122

42.0001.1007

42.0001.2970

42.0001.5128

42.0001.5129

42.0001.5607

42.0001.5127

42.0001.5130

Torch head AL4000 45°;AL4000 & %1 45°

Torch head AW5000 45°;AW5000 8 3 45°

Insulator ® 14.1/ ® 21x16(AL4000);4E %3 ® 14.1/ ® 21x16(AL4000)
Insulator ® 15/ ® 21x10(AW5000);4 % 5 ® 15/ d 21x10(AW5000)
Contact tip holder M10x1.25/SW13x32;5 B I & M10x1.25/SW13x32
Contact tip; 5 8 B

White ceramic gas diffuser; 3 & [ & 9 7 8%

Retaining sleeve (AL4000/AW5000); R I 37 % (AL4000/AW5000)
Gas Nozzle ® 17/ ® 25x79.3;5NEEHE & 17/ ® 25x79.3

Gas Nozzle ® 15/ ® 25x79.3;5 Bl ® 15/ & 25x79.3;

Gas Nozzle ® 17/ ® 25x74.5;5MNEEHE D 17/ ® 25x74.5/58 5%

Gas Nozzle ® 20/ ® 25x79.3;4M M & 20/ ® 25%x79.3

Gas Nozzle ® 17/ ® 25x79.3;5METHE ® 17/ O 25x79.3/5 7%

Note: About the registered trade mark, reference number of the model of the machine and spare parts, please see inner cover (company \mloduct\on)

35

R TEEMER. ARt

HSHER, ERHEAR (AFEHM)

CONTACT TIPS SH%
c € EN 60974-7 .

RoHS

Cu-Crzr

S5 Gl
o1 O 3
w w Ol

5ALL FOR WELDING

TSHW-TECH

Code
JDV0014-06
JDV0014-08

25

- JDV0014-09
JDV0014-10

E-Cu

Code
JDV0015-06
JDV0015-08
JDV0015-10
JDV0015-12
JDV0015-16

E-Cu

Code
JDV0016-08
JDV0016-10
JDV0016-12
JDV0016-16
JDV0016-20
JDV0016-24

E-Cu
M6

Code
] JDV0757-08
JDV0757-10

JDV0757-12

45

| JDVO0757-14

—x JDV0757-16
> D9

TN

Ref.
140.0008
140.0059
140.0177
140.0253

Ref.
140.0005
140.0051
140.0242
140.0379
140.0555

Ref.
140.0114
140.0313
140.0442
140.0587
140.0653
140.0677

Ref.

Wire
0.6
©0.8
©0.9
®1.0

Wire
®0.6
0.8
1.0
1.2
1.6

Wire
0.8
1.0
1.2
1.6
2.0
2.4

Wire
0.8
®1.0
1.2
1.4
1.6

SUITABLE FOR BINZEL PANASONIC

Code Ref.  Wire
JDV0014-58 141.0002 0.8
JDV0014-59 ®©0.9
JDV0014-60 141.0007 ®1.0

JDV0014-62 ®1.2
E-Cu-Al
Code Ref.  Wire

JDV0015-58 141.0001 ©0.8
JDV0015-59 ®0.9
JDV0015-60 141.0006 ®©1.0
JDV0015-62 141.0010 ®1.2
JDV0015-66 141.0020 ®©1.6

E-Cu-Al

Code Ref.  Wire
JDV0016-58 141.0003 ©0.8
JDV0016-59 ®0.9
JDV0016-60 141.0008 ®1.0
JDV0016-62 141.0015 ®1.2
JDV0016-66 141.0022 ®1.6

JDV0016-70 ©2.0
JDV0016-74 2.4
E-Cu-Al

Code Ref.  Wire
JDVO0757-60 1.0
JDVO0757-62 1.2
JDV0757-64 1.4

l ==

Code Ref.  Wire
JDV0014-76 140.0855 ®©0.6
JDV0014-78 140.0062 ©0.8
JDV0014-80 140.0256 ®1.0

JDV0014-82 1.2
Cu-Cr-Zr
Code Ref.  Wire

JDV0015-78 140.0054 ©0.8
JDV0015-80 140.0245 ®1.0
JDV0015-82 140.0382 ®1.2

Cu-Cr-Zr

Code Ref.  Wire
JDV0016-78 140.0117 ©0.8
JDV0016-80 140.0316 ®©1.0
JDV0016-82 140.0445 ®1.2
JDV0016-84 ®1.4
JDV0016-86 140.0590 ®©1.6

Cu-Cr-Zr

Code Ref.  Wire
JDV0757-78 ©0.8
JDVO0757-79 0.9
JDVO0757-80 1.0
JDV0757-82 ®1.2
JDVO0757-84 1.4
JDVO0757-86 1.6

JDV0757-100 ®1.0AL
JDV0757-102 D1.2AL

S

Note: About the registered trade mark, reference number of the model of the machine and spare parts, please see inner cover (compamy introduction)

R TIEEMERR. AR RE L

ERHSHER, EAHEAT (REFEM)

36



SUITABLE FOR TWECO

CONTACT TIPS %ﬂgﬁﬂﬁ BERl\égig
v

LINCOLN
RoHS

—_— MILLER
EN 60974-7 ‘
C € eneorat (€O

INTERCHANGEABLE AT REQUEST

Code Ref. Wire JDV0010-09 14H-35 ®0.9
c JDV0773-06 11-23 ®0.6 JDV0010-10 14H-40 ®1.0
£
el I JDV0773-08 11-30 ®0.8 JDV0010-12 14H-45 ®1.2
&
JDV0773-09 11-35 ®0.9 JDV0010-13 14H-52 ®1.3
JDV0773-10 11-40 ®1.0 JDV0010-16 14H-116 »1.6
6.3mm-1/4" JDV0773-12 11-45 ®1.2 JDV0010-20 14H-564 ®2.0
- JDV0010-62 14AH-364 ®1.2
JDV0774-08 11H-30 ®0.8
JDV0774-09 11H-35 ®0.9 1/4-28
JDV0774-10 11H-40 ®1.0
JDV0774-12 11H-45 ®1.2 JDV0772-09 14HT-35 ®0.9
JDV0772-10 14HT-40 ®1.0
JDV0772-12 14HT-45 »1.2
- JDV0772-13 14HT-52 1.3
pe=g JDV0772-16 14HT-116 »1.6
Code Ref. Wire
JDV0772-20 14HT-564 ®2.0
c JDV0775-06 11T-23 ®0.6
.| E ) .
S JDV0775-08 117-30 ®0.8 7.0mm-0.283
&
JDV0775-09 117-35 ®0.9
6.3mm-1/4" JDV0775-12 11T-45 ®1.2 —
JDV0071-09 15H35 ®0.9
JDV0071-12 15H45 ®1.2
1/4-28 JDV0019-06 14-23 ®0.6 E JDV0071-16 15H116 1.6
A ©
JDV0019-08 14-30 ®0.8 g JDV0071-20 15H564 2.0
JDV0019-09 14-35 ®0.9 JDV0071-24 15H332 2.4
£ JDV0019-10 14-40 ®1.0 JDV0071-28 15H764 2.8
13
8 JDV0019-12 14-45 ®1.2
JDV0019-13 14-52 ®1.3
8.7mm-11/32"
JDV0019-16 14-116 ®1.6
— JDV0019-20 14-564 ®2.0
6.3mm-1/4* JDV0019-62 14A-364 ®1.2
JDV0019-66 14A-116 1.6
5/16-24
. JDV0072-09 15HFC35 ®0.9
JDV0072-12 15HFC45 ®1.2
E-Cu JDV0072-13 15HFC52 ®1.3
£
£ -
P —— LT 0.6 5 JDV0072-16 15HFC116 ®1.6
< -
IDV0779-08 14T-30 P JDV0072-20 15HFC564 ®2.0
P —— A5 009 JDV0072-24 15HFC332 ®2.4
IDV0779-10 14T-40 1.0 JDV0072-28 15HFC764 ®2.8
%* JDV0072-32 15HFC18 3.2
JDV0779-12 14T-45 ®1.2 > ®
8.7mm-11/32" JDV0072-62 15AHFC364 ®1.2AL
JDV0779-13 14T-52 ®1.3
JDV0072-66 15AHFC116 ®1.6AL
6.3mm-1/4" JDV0779-16 14T-116 ®1.6

.5 ALL FOR WELDING

TSHW-TECH

Note: About the registered trade mark, reference number of the model of the machine and spare parts, please s
ERTFEEMEAR. WA RE Y-

ee inner cover (company introduction)
ERSHER, BRHEARRT (AFREM)

37

NOZZLES IEl%
v/ C € ENeogra7

RoHS

MIG 15

> O19

MIG 24/240

MIG 25

MIG 26/400/500 i

D24

MIG 36 n T

—>! &4

ALL FOR WELDING

THK-TECH

SUITABLE FOR BINZEL

[codo | Rot. | Description _Jpacy

JDT0073 145.0123  Gas nozzle® 9.5mm;R&EHE® 9.5mm/15AK 10
JDT0074 145.0075 Gasnozzle® 12mm;REH® 12mm/15AK 10
JDT0075 145.0041  Gas nozzle ® 16mm;MiHE ® 16mm/15AK 10

JDT0081 145.0183  Spotwelding gas nozzle ® 16mm; & /&M © 16mm/15AK 10

JDT0722 145.0143  Tapered gas nozzle ® 13mm;#E & B © 13mm/15AK 10
Code m Description m
JDT0811  145.0047  Gas nozzle ® 17mm;MEiHE® 17mm/24KD 10
JDT0817 145.0080 Gasnozzle ® 12.5mm;BEHE® 12.5mm/24KD 10
JDT0818 145.0128  Gas nozzle ® 10mm;MEiHE ® 10mm/24KD 10
JDT0819 145.0174  Spotwelding gas nozzle; &5 18 i H/24AK 10

cote | Rot. | Deseription Jpack

JDT0088 145.0124 Gas nozzle ® 11mm;BEH ®11mm/25AK 10
JDT0089  145.0100  Gas nozzle ® 15mm;MEiHE® 15mm/25AK 10
JDT0080 145.0042  Gas nozzle ® 18mm;MEHE ® 18mm/25AK 10
JDT0726  145.0153  Tapered gas nozzle ® 11mm;§E B IE ¥ © 11mm/25AK 10
JDT0723 145.0214  Tapered gas nozzle ® 14mm;#E & B O 14mm/25AK 10

JDT0086  145.0169  Spotwelding gas nozzle ®18mm; S 2B ©18mm/25AK 10

Jeeas [P Re| - mesciptienl B Peek

JDT0724 145.0085 Gas nozzle ® 16mm;MEiH® 16mm/401D-501D 10
JDTO751  145.0132  Gas nozzle ® 14mm;f&# ® 14mm/401D-501D 10
JDTO757  145.0051 Gas nozzle ® 19mm; i HE ® 19mm/401D-501D 10

JDT0758 145.0148  Adjusted tapered nozzle ® 15mm;iE# ¢ 15mm/401D-501D 10

JDTO759  145.0179  Spotwelding gas nozzle ® 20mm; & & B ©20mm/401D-501D 10

T T

JDT0082 145.0126  Gas nozzle ® 12mm;MEiH® 12mm/36KD 10
JDT0083  145.0078  Gas nozzle ® 16mm;iE# ® 16mm/36KD 10
JDT0084  145.0045  Gas nozzle ® 19mm;MEiHE® 19mm/36KD 10
JDT0671  145.0172  Spotwelding gas nozzle ®20mm; & {21t # © 20mm/36KD 10

Note: About the registered trade mark, reference number of the model of the machine and spare parts, please see inner cover (company introduction)

FERTIEEMERR. AR REC

FwSHER, ERHEAR (AFEM)

38



NOZZLES [®I%
c € EN 60974-7 ‘

RoHS

ALL FOR WELDING

TRHKTECH

Note: About the registered trade mark, reference number of the model of the machine and spare parts p\ease see inner cover (compdmy introduction)

39

53.5

20

24

28

SUITABLE FOR BINZEL

MIG 40KD
Code Description Pack
JDTO0711 145.0079 Gas nozzle ® 18mm 40KD;ME B ® 18mm 40KD 10
JDT0712 145.0046 Gas nozzle ® 21mm 40KD;MEH & 21mm 40KD 10
JDT0713  145.0127 Gasnozzle ® 14mm 40KD;ME#HE ® 14mm 40KD 10

SUITABLE FOR MIG MAXI

JDT0012 MC 0006 Gas nozzle ® 14mm MAXI150;[5H ® 14mm MAXI150 10
JDT0013 MC 0007  SpotWelding Gas Nozzle; & /& 5t kg 10
JDT0016 MC 0005 Gas nozzle ® 11mm MAXI150;BiH ® 11mm MAXI150 10
Code Description Pack
JDT0014 MCO0008 Gasnozzle ® 11mm MAXI250;1H ® 11mm MAXI250 10
JDT0015 MC 0009 Gas nozzle ® 14mm MAXI250;5 8 ® 14mm MAXI250 10
JDT0071 MCO0010 Gas Nozzle ® 18mm;MkE & 18mm 10
JDT0684 MC 0128  Gas nozzle ® 16mm MAXI250;BH ® 16mm MAXI250 10
JDT0685 MC 0129 Tapered Gas Nozzle ® 14mm;[E #EREHE ® 14mm 10

*

JDT0077 MC 0011 Gas nozzle ® 16mm MAXI350;EH ® 16mm MAXI350 10
JDT0078 MC 0012 Gas nozzle ® 18mm MAXI350;/H ® 18mm MAXI350 10
JDT0079 MCO0013 Gasnozzle ® 20mm MAXI350;BH ® 20mm MAXI350 10
JDT0754 MC 0298 Nozzle ® 14mm ;fEHE © 14mm 10

R TEEMER. s EHSHER, HAHEAT (REEHM)

TW TYPE NOZZLES = [E0%

c € EN 60974-7 .

RoHS

o]

3-1/2" ‘
88mm

T15/16-8Thd

1-3/4,
44nm

|| 15/16-8Thd

T
1-17/32
39mm
| T\m 16-8Thd

2-1/16",
52.3mm

T15/16-20Thd
1-3/4"
44.4mm

® T15/16-8Thd

TW2-TW4

| —‘7“'8“1('
TW5 2-3/16"
51mm

TW2
7/8”
22.2um
TW3-TW4
1-1/16”
27.5un
2
19 3um
TW2-TW4
! 19 3um !
TW5

5ALL FOR WELDING

TSHK-TECH

JDT0588

JDTO0095
JDT0001
JDTO0007
JDT0703

JDT0784
JDT0785
JDT0791

JDT0797
JDTO0798

JDT0586
JDT0589
JDT0580

JDT0582
JDT0583

24AT-37SS

24CT-50S8
24CT-62S
24CT-758
24CT-37S

24CT-50F
24CT-62F
24CT-75F

24CT-62R
24CT-T2R

24FN-75S
24FN-50S
24FN-62S

24FN-62R
24FN-62F

SUITABLE FOR TWECO

Gas nozzle 3/8"(®9.5mm) ;MEHED9.5mm

Gas nozzle 1/2"(®12.7mm) ;B HE®12.7mm
Gas nozzle 5/8"(®16mm) ;BEHEO16mm
Gas nozzle 3/4"(®19mm) ;BiHEO19mm
Gas nozzle 3/8"(®9.5mm) ;B H®9.5mm

Gas nozzle 1/2"(®12.7mm) ;BEHED12.7mm
Gas nozzle 5/8"(®16mm) ;MEHED16mm
Gas nozzle 3/4"(®19mm) ;BEHEDL1IMm

Gas nozzle 5/8"(®16mm) ;BB OL6mm
Gas nozzle 3/4"(®19mm) ;BEEHEDLIMm

Gas nozzle 3/4"(®19mm) ;MEHEDL19Mm
Gas nozzle 1/2"(®12.7mm) ;B HEd12.7mm
Gas nozzle 5/8"(®16mm) ;MEHED16mm

Gas nozzle 5/8"(®16mm)L=52.3mm ;BiHEOL16mm
Gas nozzle 5/8"(®16mm)L=39mm ;BEHEDL6mm

JDT0741 25CT-50 Gas nozzle 1/2"(®12.7mm) ;HiH
JDT0747 25CT-75 Gas nozzle 3/4"(®19mm) ;B
JDTO748 25CT-62 Gas nozzle 5/8"(d16mm) ;i

JDL0691

JDL0697

JDT0096

JDT0740

JDT0749

34A

34CT

34FN

35CT

Insulator 32;45 % & 32

Insulator 34A;4 % 5] 34A

Insulator 34CT: 4% & 34CT

Insulator 34FN; 45 % & 34FN

Insulator 35CT; 4% f& 35CT

Note: About the registered trade mark, reference number of the model of the machine and spare parts, please see inner cover (Lompamy introduction)

R TIEEMERR.

HLRE REC

FSHNER, ERHEAR (REIEM)

40



TW TYPE NOZZLES ;ﬂ“ﬁﬂg SUITABLE FOR TWECO
c € EN 60974-7 ‘

RoHS

Image Code Description
JDT0091 21-37  Gas Nozzle 3/8” ® 9.5mm ;BH® 9.5mm
H“ ™ JDT0097 21-50  Gas Nozzle 1/2" ® 12.5mm ;BEMED 12.5mm
R JDT0098 21-62  GasNozzle 5/8" ® 16mm ;BEHED 16mm

“’M“ M JDT0511 21T-37 Gas nozzle 3/8” ® 9.5mm ;M 9.5mm

57 llm1m

[l MI1XI. 5Thd —

M JDT0517 21T-37F Gas nozzle 3/8” ® 9.5mm ;fEHED 9.5mm
53mm

i JDT0518 21-37F Gasnozzle 3/8” ® 9.5mm ;iEE® 9.5mm
“’E”“ M JDT0982 21-50F Gasnozzle 1/2" & 12.5mm ;EEH® 12.5mm

53mn JDT0983 21-62F Gasnozzle 5/8" ® 16 ;D 16

o JDT0796 22-62 Gas nozzle 5/8" ® 16mm;BEHED 16mm
| JDT0799 22-37  Gasnozzle 3/8” (® 9.5mm) ;BEH® 9.5mm

‘ 3-1/8"
8o |

s JDT0790 22-50 Gasnozzle 1/2" ® 12.5mm;BiHEd 12.5mm
TW2 Q[ﬂ JDT0510 22T-37SS Gas nozzle 3/8” (® 9.5mm );BiHE® 9.5mm
77. 9mm
m[- JDT0512 22-50SS Gas nozzle 1/2"(®12.5mm) ;BEHED12.5mm
JDT0513 22-62SS Gas nozzle 5/8"(®16mm) ;BEHG16mm
7o '"‘"‘ JDT0516 22-37SS Gas nozzle 3/8” (® 9.5mm) ;B HED 9.5mm

JDT0008 23-37  Gasnozzle 3/8" ® 9.5mm;BiH® 9.5mm
@] oisme JDTO009 23-50  Gas nozzle 1/2" @ 12.5mm;iEHEd 12.5mm
4-5/16” JDT0000 23-62  Gasnozzle 5/8" ® 16mm;iEHED 16mm;
84mm

JDT0609 23-75  Gasnozzle 3/4" ® 19mm;BiHE 3/4"d19mm

— JDT0708 23-37F Gas nozzle ;B

19/16-18

QE JDT0709 23-50F Gas nozzle ;B
s JDT0700 23-62F Gas nozzle HH

JDT0706 23-75F Gasnozzle 3/4"(®19mm) ;BEHEGL19Imm

[6sm  JDT0514 23H-50 Gas nozzle 1/2"(®12.5mm) ;MEHD12.5mm
3-5/16" ,‘ JDT0515 23H-62 Gasnozzle 5/8"(®d16mm) BEHGL16mm
S JDT0511 23H-75 Gas nozzle 3/8"(®9.5mm) ;BEH®I.5mm

TW2-TW4 o/ 2 o650 JDTO577 23T-37  Gas nozzle 3/8"(®9.5mm);MEHEP9.5mm
JDTO0578 23T-37F Gas nozzle 3/8"(d9.5mm) ;M ®9.5mm
JDT0606 24A-50 Gasnozzle 1/2" ® 12.5mm;BiHEd 12.5mm
o JDT0602 24A-62 Gasnozzle5/8" ® 16mm;KEHED 16mm
;!.3 12 JDT0603 24A-75 Gasnozzle 3/4" ® 19mm;iEHED 19mm
88mm
JDT0579 24A-37SS Gas nozzle 3/8"($®9.5mm) ;BEHE®9.5mm
JDT0570 24A-50SS Gas nozzle 1/2"(®12.5mm) ;BEHEd12.5mm

’ s JDTO0576 24A-62SS Gas nozzle 5/8"(®16mm) ;EEHEGL16mm
senn JDT0572 24A-755S Gas nozzle 3/4"(®19mm) BEHE®LIIMm

=

|

JDT0573 24AH-50 Gas nozzle 1/2"(®12.5mm) ;BEHED12.5mm

‘DP JDTO0574 24AH-62 Gasnozzle 5/8"(®16mm) ;BEHEDL6mm
% JDTO575 24AH-75 Gas nozzle 3/4"(®19mm) ;BEHEDGIIMM
JDTO0581 24AH-625 Gas nozzle 5/8"(®d16mm) BEHDL16mm
JDT0587 24AH-7288 Gas nozzle 3/4"(®19mm) ;BEHEDL1Imm

ALL FOR WELDING

TRHKTECH

Note: About the registered trade mark, reference number of the model of the machine and spare parts p\ease see inner cover (compdmy introduction)

R TEEMER. s EHSHER, HAHEAT (REEHM)

41

DIFFUSERS AND TIP HOLDERS SUITABLE FOR BINZEL
MR SHBIEE
c € EN 60974-7 ‘

WG 241240 | code | Ret. | Description |

JDG0040 012.0183  White plastic gas diffuser; 3 t& #8#} 4 i #8/24KD

RoHS

e T WG Y © ° JDG0540 White ceramic gas diffuser;[3 & B & 43 i 82/24KD
} . h L Nﬁ JDV0694  142.0003  Contact tip holder ;5 B B EE/M6x26mm/24KD
- \Rn-g o JDV0695 Contact tip holder ;5 H B [E/M6x28mm/24KD
® IDGO0840 Red silicon gas diffuser; 41 t& & B 43 i 88/24KD
MIG 25
oo | ot | osseipion |
l
1 @ JDG0072 142.0001  Gas diffuser M6x35mm; 53 it 88 M6x35mm/25AK
r v JDG0001 Gas diffuser M8x35mm; 43 it 88 M8x35mm/25AK
> M6

WG 26 | cods | Rer. | Description |

JDV0027 142.0007  Contacttip holder M6x22mm;S: k8 i FEM6x22mm/26KD

JDV0028 142.0082  Contact tip holder M8x22mm; S i FEM8x22mm/26KD

- p ’I E JDG0046 018.0116  White plastic gas diffuser; 3 & #5357 85/26KD
& “ N L @ JDG0546 018.0141  White ceramic gas diffuser;H t B & 4 7 88/26KD
\ - 3N 3 |
z ﬁ ¢ k i‘f ® IDG0946 Black plastic gas diffuser; 2 & #8 &} 43 ;7 #3/26 KD

- (o | et | oscrnion

JDG0073 014.0261  White plastic gas diffuser; [ t& 8§ 43 i £3/36KD

MIG 36

® JDG0007 014.0026  Black plastic gas diffuser; 2 & ¥8 1} 4 ;i 88/36KD
JDG0573 014.0023  White ceramic gas diffuser;H & [ & 43 5 2%/36KD

JDV0029  142.0005  Contacttip holder M6x28mm;S: B B EEM6x28mm/36KD

o «©
o N & @ ¢ o JDV0020  142.0020  Contacttip holder M8x28mm;S B2 i EEM8x28mm/36KD
7 JDV0697 142.0011 Contact tip holder M6x32mm; 5 & I EEM6x32mm/36KD
M6 JDV0698 Contact tip holder M8x32mm; 5 B B FEM8x32mm/36KD

MIG 40KD

MIG 40KD

1 JDV0037 145.0021 Contacttip holder 40KD/M8/43mm;S B2 B [&/40KD/M8/43mm

L o JDV0038  145.0025 Contacttip holder 40KD/M8/47mm; S E3 i FE/40KD/M8/47mm

JDG0008 015.0021  White plastic gas diffuser 40KD; 3 & #8437 88 40KD

JDG0542 015.0023  White ceramic gas diffuser 40KD; 3 & [ & 4 i 88 40KD

5ALL FOR WELDING

TSHK-TECH

Note: About the registered trade mark, reference number of the model of the machine and spare parts, please see inner cover (Lompamy introduction)
EATFEEMEAR. HERRE Gk BRI, ERHAAR (AFFM)

42



DIFFUSERS AND TIP HOLDERS
e RkSHBIEE
c € EN 60974-7 .

SUITABLE FOR BINZEL

RoHS

MIG 400/500 Code Ref. Description
JDG0032 142.0022  Contacttip holder M8x25mm; 5 H k EEM8x25mm/401D-501D
JDG0035 030.0145  White plastic gas diffuser; (3 & ¥8%} 43 3% 38/401D-501D
@® JDG0030 030.0037 Black plastic gas diffuser; 2 & ¥8 %} 43 3% £2/401D-501D
N JDG0047 142.0008  Contact tip holder M6x25mm;S: 63 B FEM6x25mm/401D-501D

JDG0048 142.0013  Contact tip holder M6x29mm; S 8 B BEM6x29mm/401D-501D

JDG0049 142.0027  Contact tip holder M8x29mm;S: 63 B FEM8x29mm/401D-501D
JDG0535 030.0190  White ceramic gas diffuser; 3 & f§ & 43 i £2/401D-501D
JDG0851 Contacttip holder M8x25mm/COPPER; 5 &  FEM8x25mm/% $/401D-501D
JDG0857 Contact tip holder M8x29mm/COPPER; 5 H FEM8x29mm/4 $§/401D-501D

SUITABLE FOR TWECO

[ vee | image ] code |Ret Joescripon

M11X1.5Thd

M10X1.5Thd

M6X1

TW1 . .
JDG0074 51 Diffuser ;5 7 2%
E 1/2-13Thd
g —3/8-24Thd
- " JDG0088 52 Diffuser ;43 i &
‘—'50_25,..,“ (used with 32 |nsu|at0r;fﬂ F 3248 5 4K)
Z 1/2-13Thd
- JDG0084 52-23 Diffuser ;5 i 2%
(used with 23series nozzles or 34A;BF
TW2
z 9/16-18Thd 23R 5334 AR T HY 15T )
% — 3/8-24Thd
- ey JDGO0075 52FN  Diffuser ;5 i 2%
>
TW3-TW4 =
e e JDGO0081 54A Diffuser ;5 7 2%
31. Tmm E
3 =y 2 JDG0087 55 Diffuser ;43 it %%
< 35m > "
WS B P : JDG0082 55SW  Diffuser ;5 %
35mm
5 ‘,% S JDG0083 55H  Diffuser ;5 i 8

35mm

ALL FOR WELDING

TRHKTECH

Note: About the registered trade mark, reference number of the model of the machine and spare par
X TEEMER. NRREGNS

please see inner cover (company Hmoducnon)
ARSI, ERHEANR (AREN

43

LINERS X228
€ Eneooa7 ()

EURO-TYPE / STEEL BRT\iNIXZ£E

SUITABLE FOR BINZEL

Blue ©0.6-0.8mm Red®1.0-1.2mm
HERELE S RELE

Insulation steel liner Blue ®1.4x4.0x4.6mm Insulation steel liner Red ®2x4.0x4.6mm

EEICAEE TR

3.4m JJD0511 124.0011 1 3.4m JJD0571 124.0026 1
4.4m JJD0517 124.0012 1 4.4m JJD0577 124.0031 1 JJD0076
5.4m JJD0518 124.0015 1 5.4m JJD0578 124.0035 1 JJD0029
500m JJID0076 1 500m  JJD0029 1 1JD0062
JJD0028
Yellow ®©1.2-1.6mm (flat) Yellow ©1.2-1.6mm (rounded)
HERENELE BHEWNRELE
Insulation steel liner Yellow ©2.4x4.2x4.7mm Insulation steel liner Yellow @ 2.5x4.5x4.7mm
EEEEE N
3.4m JJD0501 124.0041 1 3.4m JJD0561 1
4.4m JJD0507 124.0042 1 4.4m JJD0567 1 JJD0027
5.4m JJD0508  124.0044 1 5.4m  JJD0568 1
500m JJD0028 1 500m JJD0023 1
©0.8-1.0mm_ ®1.0-1.2mm
TG BEWNELE TBGEWELE

Steel liner ®1.4x4.5mm Steel liner ©2.0x4.5mm

JJD0081
3.5m JJD0588 122.0005 1 3.5m JJD0582 122.0031 1
4.5m JJD0589 122.0007 1 4.5m JJD0583 122.0036 1 3ID0088
5.5m JJD0580 122.0009 1 5.5m JJD0584 122.0039 1
500m JJD0036 1 500m JJD0020 1

®1.2-1.6mm

TRGEEWMELE

Steel liner ©®2.5x4.5mm

/ JJD0286

3.5m JJD0591 122.0056 1
4.5m JJID0597 122.0060 1
5.5m JJD0598 122.0073 1
500m JJD0027 1

EURO-TYPE / TEFLON EX=iFE Bix4 s

Blue ©0.6-0.9mm Red ©1.0-1.2mm
BEearitu® JeFERLELE

Teflon liner ®1.5 x4mm Teflon liner ®2x4mm

4—£’_ﬂ

JJD0291

3.5m JJD0111  126.0005
4.5m JJD0117  126.0008
5.5m JJD0118 126.0011
200m JJD0081

3.5m JJD0171 126.0021
4.5m JJD0177 126.0026
5.5m JJD0178 126.0028
200m JJD0075

3JD0271

iy Ny
iy Ny

5ALL FOR WELDING

TSHK-TECH

Note: About the registered trade mark, reference number of the model of the machine and spare parts, please
AT EEMEAR. WA B

ee inner cover (company introduction)
HSHERE, ERHERRT (AFEM)

44



LlNERS X228
v/ C € Eneos7a7 (@

JJDOSH¢

JJD0571

RoHS

JJD0501

JID0561

v

JID0582
JID0591

JJDo111

JJb017

JJD0221

JJD0099

JJD0090

JJD0521

JJD0529

ALL FOR WELDING

TRHKTECH

Yellow ®1.2-1.6mm
HEHRLXELE
Teflon liner ®3.0x4.5mm

L Loow oot [ peoc

3.5m JJD0221 126.0039
4.5m JJD0227 126.0042
5.5m JJD0228 126.0045
200m JJD0088

Blue ©0.6-0.9mm
BEeBarilxas

Teflon liner ® 4.0x1.5mm+terminator

iy g

Lo [ o | peec

3.5m JJD0271 1
4.5m JJD0277 1
5.5m JJD0278 1

SUITABLE FOR BINZEL

EURO-TYPE / TEFLON BRZUfs@mgixLE

Red ©®1.0-1.2mm
AEFERLHEELE
Teflon liner ®2.0x4.0 mm+terminator

EEA AR

3.5m JJD0276 1
4.5m JJD0272 1
5.5m JJD0273 1

Yellow ®1.2-1.6mm
HEBRLHRELE

Teflon liner ®3.0 x 45 mm+terminator

EEA R

3.5m JJD0291 1
4.5m JJD0297 1
5.5m JJD0298 1

EURO-TYPE / GRAPHITE MM\ AEHIXLE

3.5m JJD0286 1
4.5m JJD0282 1
5.5m JJD0283 1
200m JJD0099 1

Black ©0.8-1.0mm
BaNELE
Insulation steel liner ® 1.8x4.2x5.0 mm

TS T

3.1m JJD0562
4.1m JJD0563
5.1m JJD0564
500m JJD0021

JEFE Y

®1.2-1.6mm
RERERELEHRELE

Graphite liners ®4.5x2.7mm +Terminator

" Tooue [ e [ paoc]

3.5m JJD0202 1
4.5m JJD0203 1
5.5m JJD0204 1
200m JJD0090 1
®1.2-1.6mm
AERERELE

Graphite liners ®4.7x2.7mm

Lo ror v

200m JJD0060 1

SUITABLE FOR PAN

PAN-TYPE HI{X4E

Green ®1.0-1.2mm
FERNELE

Insulation steel liner ® 1.8x4.6x5.2mm

3.5m JJD0521
4.5m JJD0527
5.5m JJD0528
500m JJD0062

Black®1.2-1.6mm
EaigeE

Insulation steel liner ® 2x5x5.6mm

EEI A

3.5m JJD0529
4.5m JJD0520
5.5m JJD0526
500m JJD0072

Jfé/

- a g

Note: About the registered trade mark, reference number of the model of the machine and spare parts p\ease see inner cover (compmy introduction)

45

E R FEEMEAR.

=

EHRSHER, BWAHEARRT (AFEMN)

LINERS XZ4 &
v/ C € Eneos7a7 (@

RoHS

15”(4.6m)

160A 15"(4.6m)
15"(4.6m)
15"(4.6m)
117(3.4m)

180-250A
15”(4.6m)

117(3.4m)
157(4.6m)

117(3.4m)
B s 300-450A 15"(4.6m)

117(3.4m)
15"(4.6m)
15"(4.6m)

180-250A — 15"(4.6m)

157(4.6m)
500-650A
157(4.6m)

15"(4.6m)
300-450A ———

10”(3m)
160A
107(3m)

157(4.6m)

180-250A
——500-650A 15"(4.6m)

15"(4.6m)
300-450A 15"(4.6m)

157(4.6m)

5ALL FOR WELDING

TSHK-TECH

JJD0754

JJD0755

JJD0015

JJDbo811

JJD0077-03

JJD0077

JJD0078-03

JJD0782

JJD0079-03

JJD0079

JJD0787-03

JJD0787

JJD0877

JJD0082

JJD0083

JJD0084

JJD0097

JJD0991

JJD0997

JJD0998

JJD0999

JJD0990

JJD0267

JJD0990

23-40-15

35-40-15

45-40-15

42-23-15

42-3035-15

44-3545-15

44-116-15

44-564-15

44-332-15

45-3545-15

45-116-15

45-564-15

45-332-15

35TF-40-10

35TF-40-10

42N-3545-15

44N-3545-15

44N-116-15

45N-116-15

45N-116-15

SUITABLE FOR TWECO

0.237(0.6)
0.030-0.035"(0.8-0.9)
0.040-0.045"(1.0-1.2)
0.237(0.6)
0.0307-0.035"(0.8-0.9)

0.030"-0.035"(0.8-0.9)

0.0357-0.0457(0.9-1.2)
0.035"-0.0457(0.9-1.2)
0.052"-1/16"(1.3-1.6)
0.052"-1/16"(1.3-1.6)
5/647(2.0)

5/64"(2.0)

3/327(2.4)
0.0357-0.0457(0.9-1.2)
0.052"-1/16"(1.3-1.6)
5/647(2.0)

3/327(2.4)

0.0307-0.035”(0.8-0.9)
0.040"-3/64"(1.0-1.2)
0.036"-3/647(0.8-1.2)
0.036"-3/64"(0.8-1.2)
1/167(1.6)
0.0307-3/64"(0.8-1.2)

1/167(1.6)

Note: About the registered trade mark, reference number of the model of the machine and spare parts, please see inner cover (mmpamy introduction)

FERTIEEMERR, MR REHHS

SHER,

ERHEAR

AREM)



COMPLETE CABLES H4;%

C € svooonz @

Gas cooled 5%
EURO

RoHS

PAN

K&

Water cooled

EURO

Assembly  7KEBZ54H

Rubber tube

Power tube

Wire conduit

Control lines

Gas tube

Water inlet tube

5ALL FOR WELDING

TSHK-TECH

Note: About the registered trade mark, reference number of the model of the machine and spare parts, please see mner cover (company \mloduct\on)

47

RoHS

EURO TYPE [t

15AK 24-25KD
\J JuD1011
3m JDO0674 1 3m JDO0675 1
4m JDO0687 1 4m JDO0680 1
5m JD0O0688 1 5m JDO0686 1
26KD 36KD 'J JuD1017
3m JD0O0607 1 3m JDO0681 1
4m JDO0608 1 4m JDO0683 1 JUD1018
5m JDO0600 1 5m JDO0684 1
40KD
JUH6011
3m JD00620 1
am JD00626 1
5m JDO0622 1
PANTYPE [ ‘J JUH6016
PAN180 PAN350
3m JDO0121 1 3m JD00199 1 ,
4m JDO0127 1 4m JDO0190 1 -»‘I’JUH6010
5m JD00128 1 5m JDO0196 1
EURO TYPE ik,
PAN500 Water cooled cable 240/400/500
JUHO0017
3m JDO0191 1 3m JDE0078 1
4am JDO0197 1 4m JDEO0079 1
5m JDO0198 1 5m JDEOO070 1

Gastube &

Power cable 7KHi%i

JUH0010
3m JLU0075 1 3m JLI0041 1
am JLU0081 1 am JLI0047 1
5m JLU0087 1 5m JLI0048 1
Wire conduit %427 Controlwire  #il£k
JIK0070
Code Pack Code Pack
3m JLI0038 1 3m JIR0601-03 1
am JLI0039 1 am JIR0601-04 1
5m JLI0030 1 5m JIR0601-05 1
JIKO791
Water inlettube 7K Rubber tube  #/sME
3m JLI0032 1 3m JDLO716 1 -
am JLI0033 1 4m JDLO712 1 Jub4017
5m JLI0034 1 5m JDL0713 1

5ALL FOR WELDING

TSHK-TECH

E R FEEMEAR. ERHEAR (

B REHHSE RS IR, AREI

JUC0066
JUC0069
JUC0611
JuD1011
JuD1017
JuD1018
JUD4017
JUH0017
JUH0010
JUH6011
JUH6016
JUH6010
JIK0074
JIK0070
JIK0081
JIK0082

® JIKoos3

® JIKo084
® JIKoo8s
JIK0089
JIK0656
JIK0714
JIKO774
JIKO791
JIK0783
JIR0211
JIR0218
JIR0O789
® JLi0081
® JLI0086
JLI0073
JLI0098
JGU0734
JGU0745
JGU0746
JGU0748

JUC0066

JUCO0069 |

JUCO0611 ¢

JIK0074

JIK0081

JIK0082

JIK0089

§

JIK0083

JIK0656

JIKO774

=
-
iy

JIKO783

CENTRAL ADAPTORS th o4 sk 3
c € EN 60974-7 .

501.0168

501.0616

500.0213

171.0002

173.0001

MRS RECHRIZ

Euro central adaptor body/spring pins/with Nut; & 2 o g % Sk/38 1 4t/ 125

SUITABLE FOR TWECO

cooe [Rof. [ Deseripton |

Water euro central adaptor body/spring pins/with Nut;EX® 7k 14 th e 35 Sk /3 14 /512 5

Euro central adaptor/water/tynos/spring pin; & 2 f £ sk/7K 14 /tynos/3 14 5
Euro central adaptor femaler/machine side-axial;&X = & 5 5 FE/4 [5)
Euro central adaptor femaler radial;EX 3% # 5 4 EE/4H 15)

Mini euro central adaptor fdmale-axial; R BX 2%t 5 4 BE /4 1)
Current clamp 16mm;EB 45 E R 16mm

Central adaptor female machine side;BX 2% 5 5 i EE/#L 28 3%
Mini central adaptor female machine side; R B = o o 5 FE/4]] 28 i
Euro central adaptor female machine side;i R BX 2 5 R 1 [E/#] 3§ i
Euro central adaptor female machine side;3 X Bt 2 & 5% & EE/4] 28 i
Mini euro central adaptor female machine side;3 R Bx =X o 1 F&/#] 22 i
Gun plug nut/plastic nut; k& 4¢ §i 5 42 £/%8 1 42 47

Plastic housing; 28 #} 3% =

Gun plug nut; & i K12 5

Gun plug nut BZ type; /24t §i K12 &/BINZELR

Gun plug nut new blue; g #6 $i 5 42 & () /5 &

Gun plug nut new red; 24 $i FI2 8 GT) /4 &

Gun plug nut new orange; 28 $i X128 G /& &

Gun plug nut/BZ type/brass screw; 246 §i X 42 f/BINZELR §f 42 &

Back box hole;[F1BE
Back box hole;[F1BE
Back box hole/water; /518 &/7k 4

Plastic housing/MINI;ZE 4 3% £ /3% R

Back box hole/water; 5 1B &/7k %

Spring pin with wire and insulator for air cooling; = /4 $ 3k F 38 14 §t
Spring pin with wire and insulator for water cooling;7k /4 1% 3k F 38 14 &
Control wire with pin/0.5mm2/800mm ; AMP{Z #£%/0.5mm2/800mm
Blue wired hose ® 5x8mm; 138 M L& ® 5x8mm/iE &

Red wired hose ® 5x8mm;#3& M4 & ® 5x8mm/4 &

Black wired hose ® 5x8mm;#43& i 47 & ® 5x8mm/E &

PU tube ® 6x8mm/high tempreture;PUE ® 6x8mm/ifit =8
Clamp ® 7.0mm;+ %z ® 7.0mm

Clamp ® 8.7mm; % ® 8.7mm

Clamp ® 10.5mm; &% ® 10.5mm

Clamp ® 9.5mm; & #& ® 9.5mm

r—j—-—~“

JIR0O211

JIR0218 = - D
JIRO789 _

JLI0081

JLI0086

RS MR~

O600

JGUO0746

Note: About the registered trade mark, reference number of the model of the machine and spare parts, please see inner cover (company \mroducnon)
R TFEEMEAR.

ERHSHER, EAHEAT (REFEM)

more clamps at request

JGUO0748 JGUO745 JGUO0734

48



49

50



